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0% 25% 50% 75% 100%
]

R ERT(n=383)0.0 2.9

BB (=140)

RAFTEHHEENR=32)0.0 3.1

1 2 3 4 5 6 7 8 9 10 11 12 13
- |25~ 30~ 35~ 40~ 45~ 50~ 55~ 60~ 65~ 70~ 75~ 80%% .
= BT 29i% 34i% 395% 4% 495 545% 597% 647% 697% 74 798 Lk REE
EEH 383 0 11 61 61 64 50 48 35 15 14 5 1 0 18
QI21 [BES % 100.0 0.0 29 15.9 15.9 16.7 13.1 12,5 9.1 3.9 3.7 1.3 0.3 0.0 4.7
5 EEHR 140 8 50 41 9 9 2 4 3 1 0 0 0 0 13
Q122 |ByREE % 100.0 57 357 29.3 6.4 6.4 1.4 2.9 2.1 0.7 0.0 0.0 0.0 0.0 9.3
EEHR 32 0 1 6 3 3 2 1 2 0 1 1 0 0 12
Q123 |RAEEHERA % 100.0 0.0 3.1 18.8 9.4 9.4 6.3 3.1 6.3 0.0 3.1 3.1 0.0 0.0 315




Q13.1:[Q11-1TM.0Z I EMBELTLVEL D Q11-2TM.08 I EEEL TWENE1H%
O RRERDORERD THHGEEFBESMO LI, ~HEM_(SA)

EEH % .
%

1 &5 9 23 EEIE 1R

! 1~3ERE

2 |1~3&%iE 28 7.3 .

3 |3~5E%iE 59 15.4

4 |5~10E%iE 91 23.8

5 [10~15% K 52 13.6 I~5EXRE
6 |15~20F %5 44 1.5 < 1%
7|20 Lk 76 19.8 20ELL ) 154

mEE 24 6.3 | ”9.8

15~204F K%
11.5%

10~ 155K
13.6%

Q13.2:[Q11-3TM.0& JEEMEL TS M D Q11-4TM.0E JEEMBEL TWEWE 1H%
EOBRERORERDTHMHRFRESMO LI, /HYEHEE (SA)

EEH % -

2K 140 100.0 _— 1R
1 [1ERE 2 1.4 5 = 1.4%
2 |[1~3FXiH 18 12.9 Zofgl;& 7.9% 1~3E R
3 [3~5EXKH 29 20.7
4 |5~10F%KH 47 33.6 15~205 K
5 |10~15%KiH 20 14.3 6.4%
6 [15~205KiH 9 6.4
7|20k 4 2.9

mEE 11 7.9 10~ 155K

Q13.3:[Q11-6TM.0& JEMEL TLVEL A D QI1-7TM.0Z IERMEL TWENA 1 6%
EOBRERORERD FHMRFRESMO LI,  REEHRER (SA)

EIEH % _

S 32| 1000 n=32
1 ERB 0 0.0 1R
2 |I~3F%KB 5 15.6 0.0%
3 |3~5%F%KH 3 9.4
4 |5~10%FkiE 8 25.0
5 [10~15%%kH 1 3.1
6 |15~20FKiH 1 3.1
7|20t 3 9.4

EEE 11 34.4

15~ 204 K% 10~ 155K
3.1%

3.1%




BRI E LIS,

(SATRYYR)

0% 25%

50%

100%

7
= u
-] 7

2 3 4 5 6 7
ok 14 1~34 |3~5%4 |5~104 |10~15% |15~20% 204 mE
i i il i i il [Py meE
[EE=E 383 9 28 59 91 52 44 76 24
QIa1 MR % 100.0 2.3 7.3 15.4 23.8 13.6 11.5 19.8 6.3
5 E&%% 140 2 18 29 47 20 9 4 11
QI32 | B AT % 100.0 1.4 12.9 20.7 33.6 14.3 6.4 2.9 7.9
[ EEH 32 0 5 3 8 1 1 3 11
QI3 | REEHERA % 100.0 0.0 15.6 9.4 25.0 3.1 3.1 9.4 34.4
Q14: HE-OBRER CHHEEBITRHTIBAEEDRNBESHS SN HEE
NEXADHDBELHTIEEDIABTESHSELIZE, (LIKDTEH) _(MA)
EEH %
24k 1096 100.0
T [55ER 882 80,5 0% 10% 20% 30% 40% 50% 60% 70% 80% 90%
2 |ERARR 880 80.3 o
3 |BEEREAR 639 58.3 HIRRR
4 |EEEERIR 605 55.2 _
5 |Z0fth 113 10.3 RARE
6 |HTIFEDLDFAL 76 6.9
EEE i 37 3.4 BRER

EEFERR
Z 0t
HTIFFEDLOEAW

EEE




Q20.1: HEF=DBEERICENT, UTOMEREEHYETH . EHREHE T B

BROHERE (SA)

EEH %
24K 1096 100.0
1 |5H% 731 66.7
2 |fL 353 32.2
EEZE 12 1.1

Q20.2: HEF=DBRERICENT, UTOHEREEHYETH . EHEREHE T HER

EERIICKDHERTE (SA)

EEH %
24k 1096 100.0
1 |%3 380 34.7
2 |#HLy 698 63.7
EEZE 18 1.6

Q203: HLEF-DBEERICENT, UTOHEREZHYETH . /BRAREZETHEK

BROHERE (SA)

EEH %
24K 1096 100.0
1 |H% 657 59.9
2 |#fL 420 38.3
EEZE 19 1.7

Q20.4: HEF-DBRERICENT, UTOHEREEHYETH . BRAREZETHER

EERIICKDHERTE (SA)

EEH %
2k 1096 100.0
1 |5H% 589 53.7
2 AL 484 44.2
EEZE 23 2.1

K/EE

REOE
1.7%

"/EE




Q20: B -DEEMRICENT. LTOHERTEIEIHYETH,

(SARKUOR)

BH5H 0L OFEEEF

0% 25% 50% 75% 100%
ESRERCE T AR ER DOH £ EN=1096) 32.2 1“1
[
SESTRRBRICH T DB [ K D% £ 5 E(h=1096) 63.7 186
R ARRERIZE T HEER DOF £ R EN=1096) 38.3 15'7
[
B A FRECE 1T D RRELEERE (2 K B % & 5 E(=1096) 442 2u1
2
2K »H% A |OE
. — 4 - EEH 1096 731 353 12
Q20.1 [ESREHIBTIARERNDOHEHRTE % 100.0 66.7 329 .
8 N — L 2 4 s BRS¢ 1096 380 698 18
Q20.2 [FETRRERICH T DREMEREICKDHERTE % 100.0 347 63.7 18
. o 5 EEH 1096 657 420 19
Q20.3 |[RAREHZBTIARERNDOHEHRTE % 100.0 599 383 17
o Lz EI&E# 1096 589 484 23
Q20.4 | ARERCHTOMEEERHICKDFEEE % 100.0 537 149 y




Q22.1: HEF-DBFEMEHRICEN T, UTOFEFHORERNHEREEHYETH.
REZORERMERE (SA)

EEH %
24k 1096 | 100.0
e 915 835 mEE
2 B 166 15.1
|mEE 15 1.4

Q222: HEF-DBFEERICENT, UTOFEFHOREHNHEREEHYETH.
KT (BIRUIBR) OARERMEHRE (SA)

EEH %
2k 1096 | 100.0
Hb

1 429 39.1
2 |ALY 453 41.3
EEZE 214 19.5

Q223: HEF=DBFEERICENT. UTOFEFHORERHEREEHYETH.
Rt IR FEUIRR) DR ERHERE (SA)

EEH %
32N 1096 100.0
%)

1 944 86.1 EEE
2 |#L 136 12.4 1.5%
EEZE 16 1.5




Q22: HRI-DZBEEFICENT, UTOREFHOREBRHEREEHYFETH. (SATR)IR)
855 0L DEEEF
0% 25% 50% 75% 100%

REBORERHEEEEN=1096)

REEGE (DRERTIBR) DR ERIH & R E (h=1096)

REHE (B EFE LR DK ERFE 3R TE (n=1096)

1 2
=7 »H% A Ed IS
. il o BESES 1096 915 166 15
Q221 | REBOKRERHERTE % 100.0 835 15 1 14
.. A BESE 1096 429 453 214
o 1t SR
Q22.2 KRBT (DNEUIRR) DAERIHEHTE % 100.0 49 1 413 195
¥ - 4 Ao s Bl &%k 1096 944 136 16
o 1t SR
Q22.3 |KEHT(DNERFEUIRR) OARERHEHRTE % 100.0 26 1 12.4 L5




(2) ZENEPIYBEETR

o [dmE |k EE |Em P i mE A e |
(&hE)

1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500
(+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)

750 750 750 750 750 750 750 750 750 750 1,500
(+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+750)

<@EBH> 2,500 2,500 2,500 2,500 2,500 2,500 2,500 2,500 2,500 2,500 1,500
i 5 (+0) (+0) (+0) (+0) +0) (+0) (+0) (+0) O (1,000
<EsRES SR> 2,500 2,500 2,500 2,500 2,500 2,500 2,500 2,500 4,000 2,500 4,000
FH (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+1,500) (+0) (+1,500)
<EsRES SR> 2,500 2,500 2,500 4,000 4,000 4,000 2,500 2,500 4,000 2,500 0
*E (+0) GO (+1500)]  (+1500)]  (+1500) (+0) 0| (+1500) (+0)| (2500
<EfESZE> 6,250 6,250 4,000 6,250 6,250 6,250 6,250 6,250 6,250 4,000 0
3 (+0) (=2,250) (+0) (+0) (+0) (+0) (+0) (+0) (=2,250) (-6.250)
<fEEH> 0 0 0 0 0 0 250 0 250 0 750
4 (+0) (+0) (+0) (+0) (+0) (+250) (+0) (+250) (+0) (+750)

0 0 0 0 0 0 0 0 0 0 0
(+0) +0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)

2,500 4,000 2,500 4,000 4,000 2,500 4,000 2,500 2,500 2,500 4,000
R UNEY) (+1,500) 0| (+1500)|  (+1,500) (+0)|  (+1500) (+0) (+0) (+0)| _ (+1500)
< AR > 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000
K (pE) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)
< AR > 4,000 4,000 4,000 4,000 6,250 4,000 4,000 4,000 4,000 4,000 6,250
R(XE) (+0) (+0) (+0) (+2,250) (+0) (+0) (+0) (+0) (+0) (+2,250)
< ARk > 6,250 6,250 4,000 6,250 6,250 6,250 6,250 4,000 4,000 4,000 8,750
R AR (+0)]  (-2.250) (+0) (+0) (+0) (0)] (22500 (=2250)| (=2250)]  (+2,500)
< AR > 2,500 4,000 2,500 2,500 4,000 2,500 2,500 2,500 2,500 2,500 4,000
b (+1,500) (+0) GO (+1,500) (+0) (+0) (+0) (+0) (+0)]  (+1500)
< AR > 4,000 4,000 4,000 4,000 6,250 4,000 4,000 4,000 5125 4,000 2,500
IcU (+0) (+0) 0| (+2.250) (+0) (+0) G0 (+1125) GOl (1500
<E#EH> 0 0 0 0 0 0 0 0 0 0 0
B %) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)
<XEH> 2,500 1,500 1,500 2,500 2,500 1,500 2,500 1,500 2,500 1,500 1,500
PE (=1,000) (=1,000) (+0) (+0) (=1,000) (+0) (=1,000) (+0) (=1,000) (=1,000)
<XEH> 250 0 250 250 250 250 0 250 125 250 750
Uk (=250) +0) (+0) (+0) (+0) (=250) (+0) (=125) (+0) (+500)
<XEH> 0 0 0 0 0 0 0 0 0 0 0
ERE (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) +0) (+0)
<XEH> 1,500 375 1,500 1,500 1,500 1,500 1,500 1,500 1,500 750 2,500
SFEAE (-1,125) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (=750)| _ (+1.000)
<XEH> 2,500 2,000 2,500 4,000 2,500 2,500 4,000 2,500 4,000 2,500 4,000
FREEEE (=500 GOl (+1,500) (+0) G0)|  (+1500) GOl (+1500) G0)|  (+1500)
<SEHTH> 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500
BTRES +0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)
<EHTH> 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500
| B ST (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)
<GEHTH> 1,500 1,500 2,500 1,500 2,500 1,500 1,500 1,500 1,500 1,500 1,500
BRI ST (+0) (+1,000) (+0) (+1,000) (+0) (+0) (+0) (+0) (+0) (+0)
<GEHTH> 2,500 2,500 2,500 2,500 2,500 1,500 2,500 1,500 2,500 1,500 1,500
BRRESTS (+0) (+0) (+0) (+0)| (1000 (+0)|  (-1.000) (+0)|  (=1,000)|  (~1.000)
<#@K> 4,000 4,000 4,000 4,000 4,000 2,500 4,000 3250 4,000 2,500 6,250
Fiidi )] (+0) (+0) (+0) (+0)| (1500 (+0) (=750 (+0)|  (-1500)|  (+2.250)
<#@K> 2,500 2,500 1,500 2,500 2,500 1,500 2,500 1,500 2,500 1,500 4,000
EF (0|  (-1,000) (+0) 0 (1000 +0)|  (-1.000) (+0)|  (-1000)|  (+1500)
<&EYFHIBF> 4,000 4,000 4,000 4,000 4,000 2,500 2,500 4,000 4,000 4,000 2,500
FRFEF %R +0) (+0) (+0) GO (-1500]  (~1500) (+0) (+0) +0)| (1500
<EWFREF > 6,250 6,250 6,250 6,250 6,250 6,250 6,250 6,250 6,250 6,250 6,250
RBEEIVF (518-61F) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)
<&EMFRIBF]> 8,750 8,750 6,250 8,750 8,750 8,750 8750 6,250 8,750 8,750 8750
KIBEDVF> (818-978 - 1078) (+0) (=2,500) (+0) (+0) (+0) (+0) (=2.500) (+0) (+0) (+0)
<EMFRIBF] > 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 6,250
WREEDIFY (FelVESFELLEHD) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (0] (+2250)
<EYFRIEHF> 6,250 6,250 6,250 6,250 6,250 6,250 6,250 6,250 6,250 6,250 6,250
EEEIIFY (FelVEEDED) (+0) +0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)
<EYFHIBF]> 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 0
99 F > (FIV) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (0|  (-4000)
<AEYFHIBF> 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 0
DU F> (FelV) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (-4.000)
<EmE > 11,250 11,250 11,250 11,250 16,250 11,250 15,000 11,250 15,000 11,250 11,250
X (+0) (+0) (+0) (+5,000) (+0) (+3.750) (+0) (+3,750) (+0) (+0)
<#gmF > 11,250 11,250 11,250 11,250 16,250 11,250 13,750 11,250 15,000 11,250 11,250
b (+0) (+0) (+0) (+5,000) (+0) (+2,500) (+0) (+3,750) (+0) (+0)
< FRFIF > 250 250 250 250 250 250 250 250 250 250 0
WA GE®HEZY) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (=250)
B> 250 0 250 0 250 250 0 0 0 250 0
NBUEGEY) (-250) +0) (=250) +0) (+0) (-250) (=250) (=250) 0 (-250)
<—fRAE> 250 250 250 250 250 250 250 250 250 250 250
\#Zoigs (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)
<—fRAE> 250 250 250 250 250 250 250 0 250 250 0
(+0) (+0) (+0) (+0) (+0) +0) (-250) (+0) (+0) (=250

250 250 250 250 250 250 250 250 250 250 1,500

RE (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+1,250)




mEEL

a3 = & 3 m P
2 |dEE it S R i plin- hE mHE Sui eny
(&)
<—fRE> 250 250 250 250 250 250 250 0 0 250 0
=t (+0) (+0) (+0) (+0) (+0) (+0) (=250 (=250) (+0) (=250
<—fRE> 250 250 250 250 250 250 250 125 250 250 0
NEAEH (+0) (+0) (+0) (+0) (+0) (+0) (-125) (+0) (+0) (=250)
<—fRAE> 1,500 1,500 750 1,500 1,500 1,500 1,500 750 1,500 750 1,500
| B —E R (+0) (-750) (+0) (+0) (+0) +0) (-750) (+0) (-750) (+0)
<—fRAE> 750 750 750 750 750 750 750 250 750 750 750
P (+0) (+0) (+0) (+0) (+0) (+0) (-500) (+0) (+0) (+0)
<—fRAE> 4,000 4,000 4,000 4,000 4,000 4,000 4,000 2,500 2,500 4,000 6,250
E3 +0) (+0) (+0) +0) +0) (0|  (-1500)| (~1,500) O] (+2250)
<—fRE> 2,500 2,500 2,500 2,500 2,500 2,500 2,500 1,500 2,500 2,500 0
iz +0) (+0) (+0) +0) (+0) +0)|  (-1,000) (+0) 0| (-2500)
<—fRE> 2,500 2,500 2,500 2,500 2,500 1,500 2,500 2,500 2,500 2,500 1,500
BA (+0) (+0) (+0) (+0) (=1,000) (+0) (+0) (+0) (+0) (=1,000)
<—fRE> 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500
bt d (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)
<—fRE> 750 750 750 750 750 750 750 750 750 750 1,500
meny (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+750)
<—fRAE> 750 750 750 750 750 750 750 750 750 750 250
EE3w (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (-500)
<—fRAE> 750 750 750 750 750 750 750 750 750 750 750
|BTPYZEE +0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)
<EH(LELLTOZR) > 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 750
EAEES) +0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (=750)
<R (MEELTOEFR) > 2,500 2,500 1,500 2,500 3,250 2,500 2,500 2,500 2,500 2,500 0
kSl (+0)] _ (~1.000) (+0) (+750) (+0) (+0) (+0) (+0) (0| (-2500)
<R (LEELTOFR) > 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 2,500
B 22 5] (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) 0] (-1500)
<ZR(WEBELTOER) > 2,500 2,500 1,500 2,500 2,500 2,500 2,500 1,500 2,500 1,500 0
R Rt 22 3 (+0)|  (-1.000) (+0) (+0) (+0) (+0)|  (-1.000) (+0)|  (-1,000)|  (-2.500)
<hT—TILEBE> 2,500 2,500 2,500 2,500 2,500 1,500 2,500 1,500 2,000 1,500 2,500
i EFFE R (+0) +0) (+0) GOl (1,000 o)l (=1.000) (=500 (~1,000) (+0)
<HF—TFILBE> 2,500 2,500 2,500 2,500 2,500 2,500 2,500 2,500 2,500 2,500 8750
15 (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) GO (+6.250)
<HhT—FTILBE> 6,250 6,250 4,000 6,250 4,000 4,000 6,250 6,250 6,250 6,250 11,250
B (+0)]  (-2250) (+0)|  (=2250)|  (-2.250) (+0) (+0) +0) 0| (+5000)
<HhT—FTILBE> 6,250 4,000 4,000 6,250 6,250 4,000 6,250 6,250 6,250 4,000 0
B 22 5] (-2.250)]  (-2250) (+0) 0 (-2250) (+0) (+0) (+0)|  (-2250)|  (-6.250)
<HhT—TILBE> 8,750 8,750 6,375 11,250 10,000 8,750 8750 8,750 10,000 8,750 0
B (+0) (=2.375) (+2,500) (+1,250) (+0) (+0) (+0) (+1,250) (+0) (-8,750)
<HhT—TILBE> 4,000 2,500 4,000 4,000 2,500 2,500 4,000 4,000 2,500 4,000 2,500
PR& (=1,500) (+0) (+0)|  (-1500)|  (-1500) (+0) (+0)]  (-1500) 0] (-1500)
< BRRREHT > 8,750 8,750 6,250 6,250 6,250 6,250 8,750 8,750 28,125 8,750 0
| RS 5 25 4 (+0)|  (-2500)|  (-2500)]  (-2500)|  (-2,500) (+0) (+0)|  (+19375) GOl (-8750)
< MiKFEH> 17,500 23,125 17,500 6,250 30,625 8,750 13,750 0 50,000 34375 0
| fn 7 B AT (+5,625) 0| (-11250)| (+13.125)]  (=8750)|  (=3750)| (-17.500)| (+32,500)| (+16:875)| (~17,500)
<SAEIEEE> 4,000 6,250 4,000 4,000 4,000 4,000 6,250 4,000 4,000 4,000 16,250
S} B+ EE (+2250) 0 (+0) (+0) (+0)]  (+2250) (+0) (+0) (+0)|  (+12250)
<AlGRE> 2,500 2,500 1,500 2,500 2,500 2,500 2,500 2,500 2,500 1,500 1,500
| Bl{G & 0]  (-1,000) (+0) (+0) (+0) (+0) (+0) (+0)|  (-1000)|  (-1,000)
<BFRETERE> 6,250 7,500 4,000 6,250 6,250 6,250 6,250 4,000 4,000 6,250 4,000
DIEENFE (+1250)]  (=2.250) (+0) (+0) (+0) (+0)|  (-2250)] (-2.250) (+0)| (2250
<FREFERE> 7,500 11,250 6,250 8,750 11,250 6,250 8,750 6,250 5125 6,250 6,250
HENE) (+3750)|  (-1250)| (+1.250)] (+3750)] (~1250)] (+1250)| (=1250)] (=2375)| (-1.250)[ (~1.250)
<BFRAFEZR> 2,500 2,500 4,000 4,000 2,500 2,500 2,500 2,500 2,500 2,500 2,500
it d (+0)]  (+1500)|  (+1,500) (+0) (+0) (+0) (+0) (+0) (+0) (+0)
<MFREFER> 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 1,500
| BRiE B ZE A2 RR (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) G0 (2500
<BFRETEZR> 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 2,500 1,500 0
Rk i% (+0) (+0) (+0) (+0) (+0) (+0) 0| (+1000) 0| (-1500)
<HRE> 750 750 750 750 750 750 750 750 750 750 0
| SEAR (+0) (+0) (+0) +0) +0) (+0) (+0) +0) +0) (-750)
<EREL> 750 1,500 1,500 1,500 750 750 750 1,500 750 750 0
[EEEYGRE (+750) (+750) (+750) (+0) (+0) (+0) (+750) (+0) (+0) (=750
<HRF> 2,500 2,500 2,500 2,500 1,500 1,500 2,500 1,500 2,500 2,500 0
#ENE T 5T (+0) +0) GO (-1000)] (1,000 (+0)|  (~1.000) (+0) (+0)| (25500
<EREL> 1,500 750 1,500 1,500 1,500 1,500 1,500 750 1,125 1,500 1,500
BEENE (=750 (+0) (+0) (+0) (+0) (+0) (=750) (=375 (+0) (+0)
<E&#> 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500
NENE (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)
<R, OS> 11,250 13,750 13,750 11,250 8,750 11,250 13,750 11,250 11,250 13,750 13,750
B ARE (+2500)] _ (+2,500) 0| (-2500) 0] (+2500) (+0) (+0)|  (+2500)|  (+2500)
<#ERl. ORESVR> 2,500 2,500 2,500 2,500 2,500 2,500 2,500 2,500 2,500 2,500 16,250
B (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)] (+13750)
<#E, ORESED> 6,250 6,375 4,000 6,250 6,250 4,000 6,250 8750 4,000 7,500 0
N=Di=t) (+125)] (2250 (+0) G0 (=2.250) (+0)]  (+2500)| (=2250)| (+1250)| (-6.250)
<#F, ORESED> 8,750 8,750 10,000 11,250 10,000 8,750 11,250 8,750 6,250 8,750 0
ORE (+0) (+1,250) (+2,500) (+1,250) (+0) (+2,500) (+0) (=2,500) (+0) (-8,750)
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<BEBNE> 6,250 8,750 6,250 6,250 8,750 6,250 8,750 6,250 8,750 6,250 6,250
1D Bt ER A (I BAf) (+2500) 0 0| (+2500) (+0)|  (+2500) 0| (+2500) +0) (+0)
<RaLE> 22,500 19,375 35,000 25,000 27,500 20,625 22,500 11,250 27,500 27,500 0
(=3,125)] (+12500)]  (+2500)|  (+5000)|  (-1.875) (+0)| (-11250)]  (+5000)]  (+5000)| (-22500)
<REFALE > 11,250 11,250 8,750 13,750 16,250 11,250 11,250 11,250 11,250 11,250 11,250
REFAE GO (25000  (+2500)|  (+5,000) +0) +0) +0) (+0) (+0) (+0)
< FRERR > 2,500 2,500 1,500 2,500 2,500 2,500 2,500 1,500 1,500 1,500 6,250
|/ T R B 0| (-1,000) (+0) (+0) (+0) (+0)|  (-1000)] (-1000] (-1000)]  (+3.750)
< FRERF > 6,250 5125 5125 6,250 6,250 6,250 6,250 6,250 5,125 6,250 0
FERE S RRER (-1,125)]  (=1,126) (+0) (+0) (+0) (+0) (+0)|  (=1.125) (+0)|  (=6.250)
<FRERRL> 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000 4,000
L (+0) (+0) (+0) +0) +0) (+0) (+0) +0) +0) (+0)
<FRERE > 11,250 11,250 10,000 11,250 11,250 8,750 11,250 8750 8,750 8,750 11,250
£ B RREY (+0) (=1,250) (+0) (+0) (=2,500) (+0) (=2,500) (=2,500) (=2,500) (+0)
<FIEFMT> 12,500 12,500 12,500 12,500 17,500 12,500 17,500 12,500 12,500 12,500 12,500
BED (+0) (+0) (+0) (+5,000) (+0) (+5,000) (+0) (+0) (+0) (+0)
<TIEFMT> 17,500 17,500 17,500 22,500 22,500 17,500 17,500 17,500 17,500 17,500 27,500
REH (+0) (+0) (+5.000) (+5.000) (+0) (+0) (+0) (+0) (+0)]  (+10,000)
< FEEFMHT> 22,500 17,500 22,500 22,500 22,500 22,500 22,500 17,500 22,500 17,500 0
THRET (DR EEIER) (=5,000) (+0) (+0) (+0) (+0) (+0)] (5,000 (+0)|  (-5000)| (-22500)
< THEFAMT> 22,500 22,500 22,500 22,500 27,500 22,500 22,500 22,500 17,500 22,500 27,500
JEEHT (SRR FE YRR +0) (+0) (+0)| _ (+5,000) +0) +0) (+0)|  (-5.000) G0)|  (+5000)
< THEFAMT> 27,500 275500 27,500 35,000 35,000 27500 27,500 22,500 27,500 27,500 0
Kot (O EER) +0) GO (+7500)|  (+7500) +0) +0)|  (=5000) (+0) (+0)|  (=27500)
<THEFMT> 27,500 27,500 35,000 35,000 35,000 27,500 27,500 27,500 27,500 27,500 45,000
Kot (BRE FEYIRR) (+0)|  (+7500)[  (+7500)|  (+7500) +0) +0) (+0) (+0) (+0)|  (+175500)
<ER> 35,000 45,000 27,500 35,000 45,000 35,000 35,000 35,000 35,000 27,500 17,500
BR BR 4 HH 1 (+10000)] (75500 (+0)| (+10,000) +0) (+0) 0 G0 (=7500)] (~17500)
<ER> 22,500 22,500 22,500 27,500 27,500 22,500 27,500 22,500 27,500 22,500 0
ERER N R (+0) (+0)|  (+5000)|  (+5000) (+0)[ _ (+5000) (+0)|  (+5,000) (+0)| (-22500)
<HR> 22,500 22,500 20,000 22,500 27,500 17,500 25,000 22,500 27,500 22,500 27,500
R B AE 5 Y B +0)]  (-2500) (+0)]  (+5000)]  (-5000)]  (+2,500) (+0)]  (+5000) (+0)]  (+5000)
<BR> 17,500 17,500 12,500 17,500 22,500 17,500 22,500 12,500 17,500 20,000 0
EiR % - A iRiE (+0)| _ (-5000) (+0)|  (+5,000) 0 (+5000)  (-5000) 0| (+2500) (~17500)
<BR> 12,500 12,500 12,500 12,500 12,500 15,000 12,500 7,500 7,500 22,500 0
Edlis (+0) (+0) (+0) 0] (+2500) (+0)|  (-5000)] (-5000)] (+10000)] (~12,500)
<BR> 7,500 7,500 7,500 7,500 7,500 5,000 10,000 21,250 6,250 7,500 0
| AR (+0) (+0) (+0) (+0)]  (-2500)] (+2500)| (+13750)|  (~1,250) 0| (7500
<ER> 22,500 27,500 22,500 22,500 27,500 22,500 27,500 27,500 27,500 22,500 22,500
Fr)—FA (+5,000) (+0) (+0) (+5,000) (+0) (+5,000) (+5,000) (+5,000) (+0) (+0)
<E> 17,500 22,500 12,500 17,500 22,500 17,500 22,500 12,500 17,500 17,500 22,500
E 1@ (+5000)] _ (-5,000) (+0)]  (+5000) (0]  (+5000)|  (-5000) +0) 0| (+5000)
<E> 35,000 45,000 27,500 45,000 53,750 35,000 45,000 35,000 45,000 35,000 87,500
FEEHEYR (+10000)]  (-7500)| (+10.000) (+18,750) (+0)] (+10,000) (+0)| (+10,000) (+0)] (+52.500)
<BE> 62,500 62,500 40,000 62,500 62,500 45,000 62,500 62,500 62,500 62,500 87,500
L HEYRG- S =R (+0)| (22500 (+0) (+0)| (17,500 (+0) (+0) (+0) (+0)]  (+25,000)
<FFREE> 45,000 31,250 15,000 45,000 66,250 45,000 62,500 87,500 125,000 27,500 0
SERAR (-13750)] (=30,000) GOl (+21.250) (+0)|  (+17500)[ (+42500)| (+80000)| (~17.500)| (~45,000)
<FEREE> 87,500 62,500 75,000 87,500 125,000 62,500 106,250 87,500 125,000 62,500 0
N BR (-25000)| (~12500) (+0)| (+37.500)] (=25.000)| (+18.750) (+0)| (+37500)| (=25000)| (-87.500)
<PEREE> 62,500 62,500 45,000 62,500 87,500 45,000 62,500 45,000 45,000 45,000 0
HEREAL=F (0)| (-17.500) (+0)| (+25000)| (-175500) (+0)| (-17500)| (-17500)] (-17500)] (-62,500)
<fEIREHE> 45,000 35,000 53,750 45,000 62,500 35,000 45,000 53,750 75,000 45,000 0
Vecs (-10000)| _ (+8,750) (+0)| (+17500)| (~10,000) (+0)|  (+8750)| (+30,00) (+0)| (-45000)
<fEIREH> 125,000 75,000 125,000 125,000 125,000 125,000 125,000 62,500 106,250 87,500 0
BIRERTE (=50,000) (+0) (+0) (+0) (+0) (+0)] (-62500)] (-18.750)| (~37,500)] (~125,000)
<Hiege> 35,000 35,000 35,000 35,000 45,000 35,000 35,000 35,000 35,000 35,000 0
I R AR B (+0) (+0) (+0)|  (+10,000) (+0) (+0) (+0) (+0) (+0)| (-85000)
<HiEE> 45,000 45,000 35,000 45,000 45,000 35,000 45000 35,000 35,000 35,000 62,500
BB (+0)] (~10,000) (+0) (+0)]  (~10,000) (+0)| (-10000)| (-10,000)| (~10000)| (+17.500)
<iHLag> 62,500 62,500 45000 62,500 87,500 45,000 62,500 62,500 87,500 62,500 125,000
B (0] (-17.500) (+0)|  (+25000)| (-17,500) (+0) (+0)|  (+25000) (+0)| (+62500)
<iHiLEg> 45,000 45,000 35,000 45,000 45,000 35,000 45000 35,000 45,000 40,000 62,500
Zasl] (+0)| (-10,000) (+0) (+0)] (~10,000) (+0)| (=10,000) (+0)|  (-5000)| (+17500)
<iHiLga> 62,500 62,500 45,000 62,500 62,500 45,000 62,500 53,750 45,000 45,000 62,500
BUER-mE (+0)| (~175500) (+0) +0)|  (-17,500) (+0)|  (-8750)| (~17500)| (~17.500) (+0)
<iHbE> 35,000 35,000 27,500 35,000 45,000 35,000 35,000 35,000 35,000 35,000 0
EER (+0)| (7500 (+0)| (+10,000) +0) +0) 0 (+0) (+0)| (-85000)
< P A - L - PR > 62,500 62,500 45,000 62,500 62,500 45,000 62,500 62,500 62,500 62,500 0
IR (+0)| (~17500) (+0) (+0)[ (~17,500) +0) (+0) (+0) (+0)| (-62500)
< PRS- B 22 - PR > 62,500 62,500 62,500 62,500 87,500 62,500 62,500 62,500 62,500 62,500 0
REZELIRE (+0) (+0) (+0)]  (+25000) (+0) (+0) (+0) (+0) (+0)] (-62500)
< e - B 22 - PR > 45,000 62,500 45000 62,500 62,500 45,000 45000 45,000 45,000 45,000 62,500
|2 (+175500) (+0)|  (+17500)| (+17,500) (+0) +0) (+0) (+0) G0)|  (+17500)
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<ABFREE> 62,500 62,500 62,500 62,500 87,500 45,000 62,500 62,500 62,500 62,500 62,500
BT (+0) (+0) (+0)|  (+25000)| (~17.500) (+0) (+0) (+0) (+0) (+0)
<ABFREE> 62,500 62,500 62,500 62,500 62,500 45,000 62,500 62,500 40,000 45,000 0
B LB (+0) (+0) (+0) G0 (~17,500) +0) (0| (=22500)| (~17500)] (~62500)
<BPREE> 62,500 62,500 45000 62,500 62,500 45,000 62,500 45,000 35,000 45,000 0
FREYVIE (+0)|  (~17.500) (+0) (+0)| (~17.500) (+0)| (~17500)] (-27.500)| (~17.500)] (-62500)
<BPREE> 35,000 45,000 35,000 45,000 45,000 35,000 45000 45,000 35,000 35,000 62,500
B B BR (+10,000) (+0)| (+10,000)| (+10,000) (+0)] (+10000)[ (+10,000) (+0) (+0)|  (+27500)
<ibFREE> 62,500 62,500 45000 62,500 62,500 45,000 62,500 45,000 62,500 45,000 62,500
EEBEIE S 1B (+0)| (~175500) (+0) ¢0)|  (-175500) (+0)| (=17500) 0| (-175500) (+0)
<FREE> 35,000 35,000 35,000 45,000 45,000 35,000 45,000 45,000 35,000 35,000 62,500
FRELIBR (+0) (+0)| (+10,000)| (+10.000) (+0)] (+10,000)[ (+10,000) (+0) (+0)| (+27500)
<AFREE> 62,500 62,500 45,000 62,500 62,500 45,000 62,500 45,000 45,000 45,000 62,500
REEHE (+0)] (~17.500) (+0) (+0)] (~175500) (+0)| (-17.500)| (-17500)| (~17,500) (+0)
< HETEEE> 45,000 45,000 45000 45,000 62,500 45,000 62,500 45000 62,500 45,000 62,500
FESRE (+0) (+0) (+0)|  (+17,500) (+0)]  (+17500) (+0)|  (+175500) (+0)]  (+17500)
<HETEEE> 45,000 45,000 45000 45,000 62,500 45,000 45000 45,000 62,500 45,000 62,500
FEES (+0) (+0) (+0)|  (+17,500) (+0) (+0) (+0)|  (+175500) (+0)]  (+175500)
< HETEEE> 45,000 45,000 45000 45,000 62,500 45,000 45000 45,000 62,500 45,000 62,500
| BN B +0) (+0) (+0)| (+17500) (+0) (+0) (+0)| (+17500) (+0)| (+17500)
<H4TEEE> 45,000 62,500 45000 62,500 62,500 45,000 45,000 45,000 45,000 45,000 62,500
FEUIR (+17,500) GO (+17.500)| (+17,500) (+0) (+0) (+0) (+0) (+0)|  (+175500)
<HTEER> 45,000 45,000 53,750 45,000 62,500 45,000 62,500 62,500 45,000 45,000 62,500
B ARAR 55 (+0)|  (+8750) 0| (+17,500) (+0)] (+17500)[ (+17500) (+0) (+0)|  (+175500)
<AFEER> 22,500 22,500 22,500 22,500 27,500 22,500 22,500 22,500 22,500 22,500 35,000
BEEE KT (+0) +0) (+0)|  (+5,000) (+0) (+0) (+0) (+0) (+0)| (+12500)
<AEER> 35,000 35,000 27,500 35,000 35,000 27,500 35,000 27,500 35,000 27,500 35,000
BEEE ERER) 0] (-7.500) (+0) +0)|  (-7500) (+0)]  (-7500) (+0)| (7500 (+0)
<HETEEE> 27,500 27,500 27,500 35,000 35,000 27,500 35,000 27,500 35,000 27,500 35,000
BEES (+0) (+0)|  (+7500)|  (+7,500) (+0)|  (+7.500) (+0)|  (+7.500) (+0)|  (+7.500)
<fER> 22,500 20,000 22,500 22,500 22,500 17,500 22,500 17,500 22,500 22,500 17,500
IEEIER (=2,500) (+0) (+0) G0 (5000 (+0)|  (-5000) (+0) o) (5000
<kR> 27,500 22,500 27,500 35,000 35,000 27,500 35,000 27,500 22,500 27,500 35,000
FLIRAES &R LI Bk (-5,000) GO (+7500)|  (+75500) +0)|  (+7500) (+0)| (5000 G0)|  (+7500)
<fkE> 45,000 45,000 40,000 62,500 62,500 45,000 62,500 45,000 45,000 45,000 87,500
ZLIRAES £ 1B (+0)]  (=5000)[ (+17500)| (+17500) (+0)| (+175500) (+0) (+0) (+0)| (+42500)
<fkE> 27,500 27,500 27,500 35,000 35,000 27,500 35,000 27,500 35,000 27,500 27,500
AT P98 BRI AR AE (+0) (+0)| (#7500  (+7.500) (+0)|  (+7500) 0| (+7500) +0) (+0)
<fER> 35,000 27,500 27,500 35,000 45,000 27,500 35,000 27,500 35,000 27,500 17,500
ATF9Z N8 (-7500)|  (~7.500) G0 (+10000)]  (=7500) (+0)| _ (-7500) (0| (=7500)] (~17500)
<fkR> 17,500 17,500 17,500 17,500 22,500 17,500 22,500 17,500 22,500 17,500 35,000
BEAIL=T (+0) (+0) (+0) (+5,000) (+0) (+5,000) (+0) (+5,000) (+0)|  (+17500)
<fER> 27,500 27,500 22,500 27,500 27,500 22,500 27,500 27,500 27,500 27,500 27,500
|BEBEANIL=F o) (=5000) (+0) +0)| (5000 (+0) (+0) (+0) 0 =0
<fkR> 27,500 35,000 27,500 27,500 35,000 22500 27,500 27,500 27,500 27,500 22,500
[BENL=F (+75500) (+0) 0| (+7500)|  (-5000) (+0) +0) +0) 0| (-5000)
<h®R> 62,500 62,500 45000 62,500 62,500 45,000 62,500 53,750 45,000 62,500 62,500
|BEAL=TF (+0)] (~17500) (+0) (+0)| (~175500) (+0) (-8.750)| (~17.500) (+0) (+0)
<EMHNE> 62,500 62,500 62,500 62,500 87,500 62,500 62,500 62,500 87,500 62,500 17,500
BEREEH (+0) (+0) (+0)| (+25,000) (+0) (+0) (+0)| (+25000) (+0)] (-45000)
<EMNE> 62,500 62,500 62,500 62,500 87,500 62,500 62,500 62,500 87,500 62,500 62,500
LR B (+0) 0 (+0)|  (+25000) (+0) (+0) (+0)|  (+25000) +0) (+0)
<ERSE> 62,500 62,500 62,500 62,500 87,500 62,500 62,500 62,500 87,500 62,500 62,500
| KBRE BT (+0) +0) (+0)| (+25,000) (+0) (+0) (+0)| (+25,000) (+0) (+0)
<EMHE> 62,500 62,500 62,500 62,500 87,500 62,500 62,500 62,500 87,500 62,500 62,500
TFERE B (+0) (+0) (+0)|  (+25,000) (+0) (+0) (+0)|  (+25,000) (+0) (+0)
<EMHSNE> 125,000 87,500 87,500 106,250 175,000 87,500 106,250 87,500 125,000 125,000 0
| EHEEHT (=37500)|  (=37500)| (-18750)| (+50,000)| (=37,500)| (=18750)| (~37,500) (+0) (+0)| (=125,000)
<EMHNE> 87,500 75,000 62,500 87,500 125,000 62,500 125,000 106,250 87,500 87,500 87,500
| BB (-12500)| (=25000) (+0)|  (+37500)| (=25000)| (+37500)| (+18.750) (+0) (+0) (+0)
<EMHSNE> 17,500 12,500 12,500 17,500 17,500 17,500 17,500 15,000 20,000 17,500 17,500
R A B B F3 (FEERIM B EE1E) (-5000)]  (-5000) (+0) (+0) +0) (+0)|  (=2500)[  (+2500) +0) +0)
<EMSNE> 62,500 62,500 62,500 45,000 87,500 45,000 62,500 53,750 62,500 62,500 0
B R Bf Bt 3 (R B B2 48 ) +0) GO (-17.500)| (+25000)] (~17,500) (+0)|  (-8750) (+0) (+0)| (-62500)
<ERSE> 62,500 62,500 45,000 62,500 62,500 45,000 62,500 62,500 45,000 45,000 125,000
KEREEELIER (+0)| (~17500) (+0) (+0)|  (-175500) (+0) GO (-17.500)| (~17.500) (+62500)
<ERSE> 62,500 62,500 62,500 62,500 62,500 45,000 62,500 45,000 62,500 62,500 62,500
BREEREA (+0) (+0) (+0) (+0)| (-17.500) (+0)| (~17.500) (+0) (+0) (+0)
<EMHE> 62,500 62,500 62,500 62,500 62,500 62,500 62,500 62,500 62,500 62,500 62,500
B+ FHHHR BFE) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)
<EMHSNE> 62,500 62,500 62,500 62,500 125,000 62,500 62,500 53,750 87,500 62,500 0
B+ FH TR B ERE) +0) (+0) GOl (+62.500) +0) (+0)|  (-8750)[ (+25000) (+0)|  (-62500)
<EMHSNE> 62,500 62,500 45000 62,500 62,500 45,000 62,500 53,750 45,000 45,000 87,500
| BT D (T ) (+0)| (=17.500) (+0) (+0)| (~17.500) (+0) (-8750)| (-17500)| (~17,500)] (+25000)
<EMSNE> 62,500 62,500 45,000 62,500 87,500 45,000 62,500 62,500 53,750 45,000 87,500
BT R (2 ) (+0)| (~175500) (0| (+25000)] (~17,500) +0) GO (-8750)| (~17500)[ (+25000)
<EMSNE> 22,500 22,500 22,500 27,500 27,500 22,500 27,500 22,500 22,500 22,500 17,500
i) (+0) +0)|  (+5000)]  (+5000) (+0)|  (+5000) (+0) (+0) (+0)[ (5000
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<PIESED> 87,500 75,000 131,250 125,000 125,000 62,500 125,000 45000 125,000 62,500 0
B F A F3 (-12500)] (+43750)| (+37.500)| (+37.500)] (~25000)] (+37500)| (-42500)| (+37,500)] (~25000)] (~87500)
<HIESED> 125,000 106,250 131,250 175,000 175,000 87,500 87,500 87,500 105,000 87,500 0
HERNIL=F (RURSIILRAYE) (-18,750)]  (+6,250)] (+50,000)| (+50000)| (-375500)] (-37,500)] (-37.500)| (-20000)| (-37,500)| (~125,000)
<HRESEL> 87,500 87,500 62,500 125,000 125,000 87,500 106,250 87,500 125,000 87,500 125,000
| MR ARA L =7 (S S YIBY) (+0)| (-25000)] (+37.500)| (+37.500) (+0)| (+18750) (+0)| (+37.500) (+0)| (+37.500)
<HRESFL> 87,500 125,000 62,500 125,000 125,000 62,500 87,500 87,500 125,000 87,500 0
|MEREARAIL =7 (MBS IR (+37500)] (=25000)| (+37.500)| (+37,500)[ (~25000) (+0) G0 (+37,500) (+0)| (-87500)
<HRESNE> 87,500 35,000 62,500 125,000 87,500 87,500 87,500 87,500 106,250 62,500 0
| MR AR L= 7 GEZE 1) (-52500)] (=25000)| (+37.500) (+0) (+0) (+0) (+0)|  (+18.750)| (~25000) (~87500)
<REHRAE> 35,000 0 22,500 155,000 | 275,000 25,000 35,000 35,000 35,000 175,000 0
ANIRNT=D (-35000)] (~12500)| (+120.000)| (+240,000)] (~10,000) (+0) (+0) (+0)| (+140,000)] (~35000)
<REHERAR> 200,000 0 0 155,000 | 287,500 0 76,250 0 0 0 0
AHRNTF— (-200000)] (~200,000)| (-45000)| (+87,500)| (~200,000)| (~123,750)| (-200.000)| (~200000)| (~200,000) (~200,000)
<BEEEE> 2,500 2,500 2,500 2,500 2,500 1,500 2,500 2,500 1,500 2,500 2,500
FBHL—HF—F QRS (+0) (+0) (+0) (+0)| (1,000 (+0) (+0)|  (=1,000) (+0) (+0)
<BEREE> 1,500 1,500 1,125 1,500 1,500 750 1,500 1,500 1,500 750 4,000
R —TEDHEF (+0) (-375) (+0) (+0) (-750) (+0) (+0) (+0) (=750)]  (+25500)
<EPEE> 45,000 45,000 45000 45,000 45,000 45,000 45000 45,000 45,000 45,000 6,250
IA—F—bFLYRIILEDFER (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)| (~38.750)
<BEPEE> 4,000 4,000 24,500 4,000 4,000 4,000 4,000 23,750 4,000 4,000 2,500
b=y, (+0)|  (+20500) (+0) (+0) (+0) (+0)] (+19.750) (+0) (+0) (=1,500)
<MEBRE> 750 750 750 750 750 750 750 750 750 750 0
EJkE] (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (=750
<mEBE> 1,500 1,500 1,500 2,500 2,500 1,500 1,500 1,500 1,500 1,500 1,500
CBCHEZE (+0) (+0) (+1.000) (+1,000) (+0) (+0) (+0) (+0) (+0) (+0)
<mEBE> 6,250 4,000 6,250 6,250 6,250 6,250 4,000 6,250 4,000 6,250 750
HPHRE RV IBREERLS D) (=2,250) (+0) (+0) (+0) 0] (2250 (+0)] (2250 +0)]  (-5500)
<Mm#EBEE> 1,500 1,500 1,500 1,500 1,500 750 1,500 750 750 750 1,500
F4FUTHRE (EEX-ERE) (+0) (+0) (+0) (+0) (=750) (+0) (=750 (=750) (=750) (+0)
<m#EBEE> 2,500 1,500 2,500 2,500 2,500 1,500 2,500 1,500 2,500 1,500 1,500
24SVTBREGERE) (=1,000) (+0) (+0) (+0) (-1,000) (+0) (=1,000) (+0) (-1,000) (-=1,000)
<MHEEE> 4,000 2,500 2,500 4,000 2,500 2,500 4,000 2,500 4,000 2,500 4,000
YA ILRRE (FIV) (-1500)] _ (~1,500) (+0)|  (-1500)|  (-1500) 0| (-1500) 0 (1500 (+0)
< MEBRE> 2,500 2,500 2,500 4,000 2,500 2,500 4,000 2,500 4,000 2,500 4,000
DA IWRIEE (FelV) (+0) GO (+1,500) (+0) (+0)|  (+1500) GO (+1500) G0 (+1500)
< MEBRE> 4,000 2,500 4,000 4,000 4,000 4,000 4,000 4,000 2,500 4,000 6,250
DANREE VLRI AILR) (=1.500) (+0) (+0) (+0) (+0) (+0) (+0) (=1.500) (+0) (+2.250)
<mEBE> 6,250 6,250 5,125 6,250 6,250 6,250 6,250 6,250 6,250 6,250 2,500
3 110 BA5& (R 1 iR EY) (+0)]  (-1.125) (+0) (+0) (+0) (+0) (+0) (+0) (0| (-3750)
<mEBE> 6,250 6,250 5,125 6,250 6,250 6,250 6,250 4,000 6,250 6,250 2,500
4 110 B> (ff i iR B ) 0]  (-1125) (+0) (+0) (+0) +0)|  (-2.250) (+0) 0]  (-8750)
<Mm#EBEE> 4,000 4,000 4,000 6,250 6,250 4,000 4,000 4,000 4,000 4,000 2,500
# MpEE (VORI YTF) (+0) +0) (+2.250) (+2.250) (+0) +0) (+0) (+0) (+0) (-1.500)
<HEEBRE> 0 0 0 0 0 0 0 0 0 0 0
[ERER (+0) (+0) (+0) (+0) +0) (+0) (+0) (+0) +0) (+0)
<HEEBE> 750 750 750 750 750 750 750 750 750 750 1,500
B (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+750)
<HEEHRE> 750 1,125 750 1,500 1,500 750 750 750 750 750 1,500
£0RE (+375) (+0) (+750) (+750) (+0) (+0) (+0) (+0) (+0) (+750)
<HEEHRE> 4,000 4,000 4,000 4,000 4,000 2,500 4,000 4,000 4,000 4,000 2,500
STINSTHIER (+0) (+0) (+0) (+0) (=1,500) (+0) (+0) (+0) (+0) (=1.500)
<REBE> 0 0 0 250 750 0 750 0 250 0 0
FRER (Fi8) (+0) +0) (+250) (+750) (+0) (+750) (+0) (+250) (+0) (+0)
<FREBE> 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 0
BRI (AT —T JVIRR) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0)|  (-1.500)
<FREBE> 1,500 1,500 2,500 1,500 1,500 1,500 1,500 1,500 2,000 1,500 0
AR (R ZER)) +0)|  (+1,000) (+0) (+0) +0) +0) (+0) (+500) o) (1500
<FREBE> 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500 1,500
EH (+0) (+0) (+0) (+0) +0) (+0) (+0) (+0) +0) (+0)
<EEBRE> 750 750 750 1,500 1,500 750 750 750 1,125 750 1,500
RERE +0) (+0) (+750) (+750) +0) +0) (+0) (+375) +0) (+750)
<KREBE> 1,500 750 750 1,500 1,500 750 1,500 750 1,500 750 1,500
[FEekE (=750 (=750 (+0) (+0) (=750 (+0) (-750) (+0) (=750 (+0)
<BEBRE> 750 750 750 750 750 750 750 750 750 750 1,500
DIRKTBE (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+0) (+750)
<BEBRE> 2,500 2,500 2,500 2,500 4,000 2,500 2,500 2,500 4,000 2,500 2,500
BERER (+0) (+0) (+0)]  (+1500) (+0) (+0) (+0)]  (+1500) (+0) (+0)
<REBRE> 6,250 6,250 4,000 6,250 6,250 4,000 6,250 6,250 6,250 6,250 6,250
BEEE (+0)|  (-2.250) (+0) (+0)| (2,250 (+0) (+0) (+0) (+0) (+0)
<EB> 750 1125 1,500 750 1,500 750 1,500 0 750 750 0
fHARES GREED (+375) (+750) (+0) (+750) (+0) (+750) (-750) (+0) (+0) (-750)
<HEH> 4,000 2,500 2,500 4,000 4,000 2,500 4,000 2,000 2,500 2,500 1,500
R () (-1500)]  (~1500) (+0) 0] (1500 (+0)|  (-2000)] (-1500)] (-1500)] (-2,500)
<EH> 13,750 16,250 11,250 16,250 22,500 11,250 16,250 12,500 27,500 11,250 0
#BBEE (MIREET) (+2500)|  (=2500)|  (+2,500)| (+8750)] (-2500)]  (+2500)| (~1.250)] (+13750)| (-2.500)[ (~13750)
<EH> 8,750 8,750 8,750 11,250 11,250 8,750 11,250 8,750 7,500 8,750 27,500
#REEES (VIR H DU E RS (+0) +0)|  (+2500)|  (+2500) (+0)|  (+2500) (+0)|  (=1.250) (+0)| (+18750)
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Bl

2 |dEE
it e = o e
(&) FE mE M
8750 10,000 8,750 8,750 (RmMA)
(+1,250) o) s 11250 6250 6,250 6,250 8750
11250 11,250 750 | 11250 <ﬁ.500) 2500 (2500 (2500 =l 6,250 0
. , 250 .500) + 2500  (-8750)
GO (-2500) (+0) 8750 11,250 875 8.750)
. 0 - 750 10,000
6,250 6,250 37 . G0)|  (-2500) aol ¢ i 8,750 0
: 750 0| (2500
s ol om0 ol o ol wol o T R B
750 11,250 8,750 - (+0) col g } 0
} } 0)|  (+1250)
(+2500) o) 8750 | 11250 6.250 8750 5.1 gg/ (+25500) ¢0)|  (-6250)
2500 3250 > ¢o|  (+2500] (2500 & 11,250 3750 5
: ; 4,000 2,500 25 : (+0)|  (-3628)|  (+2500)
. (+750)| _ (+1500) o) '(Og) 2,500 2500 2,500 3250 2 5(;8) (-8,750)
000 4000 400 - - (+0) 0 ’ ' , 0
g 000 6,250 6,250 ) (+0) (+750)
(+0 . I : 4000 4000 GOl (-2500)
1500 1,50 ) (O (+2250) (+2.250) (+0) (+0) 4000 4000 4,000 0
! 500 1,500 1,500 (+0) (+0) (+0
+0) ) =00 1,500 1,500 1,500 1,500 i GO (-4000)
6.250 2000 e - 2<+o, (+0) (+0) (+0) T 1,500 1,500 6,250
(-2250) “(0) v(fg\ 6,250 6,250 6,250 5250 6 2(;8) 0] (+4750)
aLFI— 4,000 4,000 4,000 5 250/ 20, (0) (+0) I (+0) | (+0) 6250 6.250
<HHBBRE> (+0) ol (2250 6250 4000 2000 2000 ” (+0) (+0)
T4 4,000 4,000 o0l 4-000/ (+2.250) (+0) (+0) ") ?00 4,000 6.250
<ASBRE> (+0) +0) o 4,000 4,000 4,000 2000 2 0 0| (+2250)
4,000 4,000 4,000 7000 (+0) (+0) (+0) "0 000 4000 6.250
s 0 000 6,250 4,000 20 v (+0) ¢0)|  (+2250)
(+0) Gt 4 000 4,000 4,000 e
11,250 8,750 11,250 20 2.250) (+0) (+0) o) : 4000 6.250
(-2500) o) 1*2<5°\ 11,250 8750 8750 | 10000 — G0 (+2250)
2500 5200 ( +0) Gl o500 2500 (-1, 11,250 8,750 18.750
3 2,500 2500 :000) (=1,250) (+0 ~
+0) e 500 4000 2500 2500 2500 0| (-2500|  (+7500)
s 11,250 6,250 5250 = 2(;8, (+1,500) (+0) (+0) e 25500 2500 1500
<mERE> (-5000)  (-5000) s 13750 | 11250 | 16250 | 18750 | 11 ¢0) GOl (1000
ifn B FE 1,500 1125 125 1500/ (+2,500) 0 5000  (+2500) 2(58) 11,250 0
' » 2 ) +
<IRERE> (-375) (-375) (+0) 1,500 1,500 1500 1500 0 GO (-11.250)
) e 8 5 1,500 1500 T 500 o 1 +0) +0) (+0) (+0) i 1,500 1500
<EREHRE> (+0) (+0) s 500 1,500 1500 1500 o (+0) (+0)
SYINR—TAT 1,500 1,500 1,500 1 500/ (+0) (+0) (+0) (+0) '(+0) 1,500 1,500
<ERFHRE> (+0) (+0) e 1500 1500 1500 1500 1500 0) (+0)
(BRI R E 1,500 1500 1,500 1 500/ 1 L0, (+0) (+0) (+0) Voo 1,500 1,500
<ERFHRE> (+0) (+0) T 500 1500 1500 1500 1500 +0) (+0)
Ak T 1,500 750 1,500 1 5001 1 (+0) +0) (+0) (+0) o) 1,500 1,500
<IREHRE> (-750) (+0) T e 750 1,500 1500 T500 O (+0)
EREHRE 1500 1,500 1500 1500 ol (-750) (+0) 0) 00 750 0
<IERBE> (+0) \ ' 1500 1500 GO (750  (-1500)
2 -~ (+0) (+0) 0 1500 1500 1500 1
BERRE 2500 2,500 2,500 4,000 i (+0) (+0) (+0) e 500 1500
<EREHAE > (+0) ol (1500 4000 2500 2000 2500 25 (+0) (+0)
ERG 4,000 0 5,125 ] 4'000/ (+1,500) o)l (+1500) " +0) ,(oo 2500 0
B ' A - ) +H
<IVORGBE > (-4000)| _ (+1.125) +0) ,3322) 6250 4000 2000 s 123) 4;*‘” (-2.500)
“ o ) (= B A
Ty) RGHRE T 4,000 4,000 4,000 4,000 4000 (+2250) (+0) ol a1em 000 0
<IvIRBDE > (+0) +0) (+0) s 4000 4,000 4,000 2000 (+0)]  (-4000)
W, o Z ’ ”
|Too R R CHILEES) 8,750 8,750 6,250 8,750 : (+0) +0) +0) o 4000 6.250
<IyHRIRDUT> G0 (-2500) o) 8,750 8,750 8,750 8,750 Py C0)|  (+2.250)
Iy REBBE (RBES) 8,750 6,250 6,250 3750 — (+0) (+0) "0) 750 6,250 16.250
<TyHRBDH> (2500| (2500 '+0) 8,750 6,250 8,750 8750 6 COL (25001  (+7500)
Tuh R (A ) 13,750 13,750 8.750 16250 (-0 (-2.500) ¢0) (+0) <72’250 6250 22,500
<IvYRRBHT> col 5000|2500 22500 [ 16250 | 16250 T —
i) 4,000 4000 4,000 6250 <+§'750) (+2500)  (+2500)|  (-5000) ' (0) 8750 | 27500
<IvIXEBH> (+0) o)l (+2250) 125 6250 5125 4000 ) (-5000), (+13750)
B 6.250 5125 TR (1.125)]  (+2250)|  (+1.125) (0) ) 728 2500 [ 11250
R, ” » Z \— -
<BERRE> (=1,125) ool +5000) 13,750 6,250 8,750 3,250 7 )| (-1500)|  (+7.250)
HhIa— 4,000 4,000 4,000 ] 4'000/ (+7500) col 2500 (<3000 (1 g§5 4,000 11,250
3 . : {—3.000) E -
<BERRE> (+0) (+0) s 4000 4000 4,000 4,000 4 5)| (-2250)  (+5000)
sz — 4000 4,000 4000 4 (;00/ 0 (+0) (+0) "(+0) '(gog) 4000 6.250
v 5 ) + N
<WEBRE > (+0) () s 4,000 4000 4000 7000 w00 (0) (+2.260)
|RREERE 22,500 22,500 16,250 25000 — (+0) (+0) '(+0) ' <+g) 4000 4000
sotE> 0| (-6250)|  (+2500) 27500 | 16250 | 22500 | 16250 | 312 — (+0)
EEAL 000 47500 | 15625 | 35000 (+5000) _(-6.250) ol (eosol  Gs 50 | 16250 | 16250
CCOTRES izl Ciaarm o o[ 35000] 35000 31250 22500 \38.750) (-6250)|  (-6.250)
ERHY 35,000 40,000 28750 | 3 o;o, (+0) G0l 3750 (12500 5,000 50,000 0
<MRIZZE> (+5000| (6250 ' 0\ 45,000 35,000 35,000 35‘000/ (+0)| (+15000)[ (~35000)
MRIZZE 45000 0 = = ;gg (+10,000) (+0) (+0) ol « ?2,000 4000 0
: : — )| (+10000)| (- \
<BREZE(HFYS)> (-45000)| (-45000)|  (-8.750) 50,000 50000 | 45000 | 45000 450 ) (10007 (35000
REESUT (1 BFyY) T6250 | 16250 | 16250 | 16250 (+5000)| _ (+5,000) (+0) o 000 [ 42500 o
DRERIZH 1T AR 0116l e 18Tee | 162501 162901 18 250 GO (2500 (45000
23 S DAY & - 3 22500] 12500 20000] 27 5(88/ (230 (0) ¢0) ") ! 6'2(53) 16250 [ 18750
=ULEEE . 4 ! 22,500 — + )
(-10000)|  (-2500)|  (+5000) o[ 2250 [ 2250 mso ] 27800 [ 17 o
o)l (=500 ' :
(5000  (+50000| (5000 (-22500)
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(3) ZENE—E

A-1: <PBERHE> I

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
r O g [P [ |06 S0 =9 == == == [ m=pdn ev 2o a8 | @ Y r
S |oS |oco oo |oo |uo [Py PO |gn |[Na O~ |00 |[O0 OO0 (060 | © E4 t
# S |89 |25 (00|05 |28 |02 |uo |[ou |[uo |[ow |oo |[oo |oo |[oo | © I 5
i 7 * * * * * A As (ASs AS ABAS AS|AS | AS|AS %] & &
(%) A2 2 2 (BB 2 1212 2 2z |z 2 |5 |7 | ¥ R
i i i i bl i i b} b} £ =] =]
[mEfE] | [0] | [2500 | [750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 23 5] 155] 833 65 9 1 1 1 1 0 0 0 0 0 0 0 0 2
100.0 2.1 05[] 1411 760 5.9 0.8 0.1 0.1 0.1 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 1,468 1,500
PRy 17 0 0 13| 100 3 1 0 0 0 0 0 0 0 0 0 0 0 0 0
’ 100.0 0.0 00 11.1) 855 2.6 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,464 1,500
sy [(ORBLE 618 7 1 78| 485 39 4 1 1 0 1 0 0 0 0 0 0 0 0 1
T |eomskiE 100.0 1.1 02| 126 785 6.3 0.6 0.2 0.2 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 1,505 1,500
OBELE 355 16 4 63| 245 22 4 0 0 1 0 0 0 0 0 0 0 0 0 0
100.0 4.5 1|0 177 69.0 6.2 1.1 0.0 0.0 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,403 1,500
20E R 477 4 2 61 386 19 2 1 1 0 1 0 0 0 0 0 0 0 0 0
! 100.0 0.8 04| 128 809 4.0 0.4 0.2 0.2 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,487 1,500
sy [20FSE 500 13 1 70| 375 35 4 0 0 1 0 0 0 0 0 0 0 0 0 1
0K 100.0 2.6 02| 140/ 750 7.0 0.8 0.0 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 1,463 1,500
W0FELE 109 5 2 22 67 10 3 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 4.6 18| 202 | 615 9.2 2.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,417 1,500
i 53 1 0 7 43 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0
i 100.0 1.9 00 132 811 1.9 0.0 0.0 0.0 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1575 1,500
i 63 2 0 16 42 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 3.2 0.0 254 667 4.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,310 1,500
. 292 6 1 21 239 22 3 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 2.1 0.3 7.2 | 818 7.5 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1512 1,500
a= 110 4 1 13 74 12 4 0 0 0 1 0 0 0 0 0 0 0 0 1
100.0 3.6 09 118 62.3| 109 3.6 0.0 0.0 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 1,658 1,500
i 192 2 0 42| 139 7 1 1 0 0 0 0 0 0 0 0 0 0 0 0
=] i 100.0 1.0 00 219 724 3.6 0.5 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,395 1,500
BEMS . 176 7 2 27| 128 10 1 0 1 0 0 0 0 0 0 0 0 0 0 0
100.0 4.0 1.0 153 727 5.7 0.6 0.0 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.423 1,500
o 57 1 0 9 45 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 1.8 00 158 789 3.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,390 1,500
mE 25 0 0 2 21 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 0.0 0.0 8.0 [ 840 8.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,520 1,500
iy 120 0 1 16 99 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 0.0 08| 133 825 3.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.423 1,500
FiRL 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(RAA) 100.0 0.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,500 1,500
f 271 11 3 47] 192 14 3 0 0 0 1 0 0 0 0 0 0 0 0 0
2,500 i
TR 100.0 4.1 11]0 17.3 [ 708 5.2 1.1 0.0 0.0 0.0 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,420 1,500
14D (2,500 E 349 7 2 44| 277 14 2 1 0 1 0 0 0 0 0 0 0 0 0 1
HURAKE [5,0005 MK 100.0 2.0 0.6 126 794 4.0 0.6 0.3 0.0 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.3 1,464 1,500
5.0005FBLE 444 5 0 60| 338 36 4 0 1 0 0 0 0 0 0 0 0 0 0 0
’ 100.0 1.1 00" 135" "76.1 8.1 0.9 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,502 1,500
A-2: <BEH> BY
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
3 o - N = w N oW ~ o -~ — —— - N = NN w N B w o B o j(:j E:3
S |28 |oo (oo |20 |uo Qg |[PO g8 |No O~ |00 |00 |OO |00 | O ¥ @
* o 09 |00 00 |00 |00 |0 |uo |[ow |uwuo |ou |[oo oo |oo |oo o Iy m|
@& % * =] =1 =1 =1 =1 S OO0 |©OO0 OO0 |90 |90 [ ©0 |90 |[©0o =3 LS %
i P * * * * A Hs(ASs AS HS HAS|HS | AS|AS M & &
(%) A b b i b b x x x x x x x x x 2L ~ ~
b i i b i i b i i *t M =]
(EE | [0 400( 6250] | [8750] | [11250] | [13750] | [16250] | [18750 50000]
otk 1096 54 1 1 0 0 0 0 0 0 3
100.0 4.9 X 0.1 0.1 0.0 0.0 0.0 0.0 . X X . 0.0 0.0 0.3 802 750
17 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0
P ES
il 100.0 1.7 . X 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 774 750
Fgy  [VORBE 618 18 23| 499 70 5 0 1 1 0 0 0 0 0 0 0 0 0 0 1
60E K i 100.0 2.9 3.7 807 | 113 0.8 0.0 0.2 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 831 750
S0 LLE 355 34 28| 240 47 5 0 0 0 0 0 0 0 0 0 0 0 0 0 1
100.0 9.6 79| 676| 13.2 1.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.3 763 750
2065 477 10 15] 403 43 3 0 1 1 0 0 0 0 0 0 0 0 0 0 1
i 100.0 2.1 3.1 845 9.0 0.6 0.0 0.2 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 826 750
s [20FHE 500 25 28| 379 62 5 0 0 0 0 0 0 0 0 0 0 0 0 0 1
PNES S 100.0 5.0 56| 758| 124 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 795 750
W0ELE 109 18 10 61 18 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 | 16.5 9.2 '56.0 | 16.5 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 736 750
- 53 1 2 46 2 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1
o 100.0 1.9 3.8 | 868 3.8 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 779 750
=it 63 3 7 48 4 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 48| 111|762 6.3 1.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 734 750
[ 292 14 7| 225 44 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 4.8 24| 771 15.1 0.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 827 750
. 110 5 3 71 28 2 0 1 0 0 0 0 0 0 0 0 0 0 0 0
100.0 4.5 2.7 645 | 255 1.8 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 975 750
i 192 7 10| 155 17 2 0 0 0 0 0 0 0 0 0 0 0 0 0 1
[Fi] " 100.0 3.6 5.2 807 8.9 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 781 750
HEMS e 176 13 16 132 13 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0
100.0 7.4 9.1 | 750 7.4 0.6 0.0 0.0 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 760 750
i 57 4 3 48 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 7.0 5.3 842 35 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 697 750
mE 25 0 1 21 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 0.0 40 840 120 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 820 750
U 120 6 4 99 10 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 5.0 3.3 825 8.3 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 713 750
L 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(RIA) 100.0 0.0 0.0 0.0 |100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,500 1,500
R 271 27 20 179 38 5 0 1 0 0 0 0 0 0 0 0 0 0 0 1
2,500 i
el 1000 100 74| 66.1| 140 1.8 0.0 04 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.4 796 750
14RO (2,500 E 349 14 16| 280 36 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#URAZE |5,0005 FIKiH 100.0 4.0 46| 802| 103 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 789 750
444 12 14| 367 47 2 0 0 1 0 0 0 0 0 0 0 0 0 0 1
50005 ML E
i 100.0 2.7 32| 827| 106 0.5 0.0 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 819 750




B-3: <HEPH>BE

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
® | 3 23 55 22182 28 o0 mo|on 2o B2 |05 855888 8 | ® | =
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# S |09 |25 (00|05 |28 |09 |uo |ou |uo |[ow |oo oo |oo |[oo | © I 5 * #
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— FEES X X * X s = =
%) Tlw o m o |m % % 2 2 %2 2 2 2 2 2 2 |*® a | =
i i i i bl i i bl b} £ =] =]
[mEfE] | [0] | [250] | [750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 17 2 32] 231 323] 242 27 1 0 1 0 0 0 0 0 0 o] 185 35
100.0 1.6 0.2 291 2111 295| 221 2.5 0.1 0.0 0.1 0.0 0.0 0.0 0.0 0.0 0.0 00| 169 3.2 2.669] 2,500
PRy 17 0 0 2 7 38 31 2 0 0 0 0 0 0 0 0 0 0 33 4
100.0 0.0 0.0 1.7 6.0 | 325| 265 1.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 282 3.4 3.044| 2,500
sy [(ORBLE 618 9 0 1 123| 185| 153 20 0 0 1 0 0 0 0 0 0 of 105 11
T |eomskiE 100.0 1.5 0.0 18] 199 | 209 | 248 3.2 0.0 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 00| 170 1.8 2,801 2,500
0BELE 355 8 2 19| 101 98 56 5 1 0 0 0 0 0 0 0 0 0 47 18
100.0 2.3 0.6 54| 285| 276| 158 1.4 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 132 5.1 2,328 2,500
20E R 477 8 1 8 87| 133 118 14 0 0 1 0 0 0 0 0 0 0 96 1
100.0 1.7 0.2 1.7 182 | 279| 247 2.9 0.0 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 00| 201 2.3 2,818 2,500
sy [20FSE 500 6 1 20| 124 155 99 11 1 0 0 0 0 0 0 0 0 0 68 15
0K 100.0 1.2 0.2 40| 248 310[ 198 2.2 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 136 3.0 2,547 2,500
W0FELE 109 3 0 3 20 33 22 2 0 0 0 0 0 0 0 0 0 0 19 7
100.0 2.8 0.0 28| 183 303[ 202 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 174 6.4 2,593| 2,500
i 53 1 0 1 10 12 13 4 0 0 0 0 0 0 0 0 0 0 1 1
100.0 1.9 0.0 19| 189 | 226| 245 1.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 208 1.9 2,994 2,500
P 63 2 0 3 11 1" 10 2 0 0 0 0 0 0 0 0 0 0 21 3
100.0 3.2 0.0 48| 175 175[ 159 3.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 333 4.8 2,532 2,500
. 292 2 0 8 67| 102 72 6 0 0 0 0 0 0 0 0 0 0 29 6
100.0 0.7 0.0 27| 2291349 247 2.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.9 2.1 2,673| 2,500
a= 110 1 1 2 23 32 29 1 0 0 1 0 0 0 0 0 0 0 16 4
100.0 0.9 0.9 1.8 209 | 29.1 |0 26.4 0.9 0.0 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 00| 145 3.6 2,803 2,500
i 192 2 0 8 38 61 42 3 1 0 0 0 0 0 0 0 0 0 33 4
i) " 100.0 1.0 0.0 42| 198 318[ 219 1.6 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 172 2.1 2,652 2,500
BEM2 . 176 3 0 6 36 46 37 6 0 0 0 0 0 0 0 0 0 0 38 4
100.0 1.7 0.0 3.4 [ 205 261 [ 21.0 3.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 21.6 2.3 2,679 2,500
o 57 2 0 1 10 16 16 0 0 0 0 0 0 0 0 0 0 0 7 5
100.0 3.5 0.0 1.8 175 | 28.1| 281 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 123 8.8 2,661 2,500
mE 25 0 0 1 8 7 3 1 0 0 0 0 0 0 0 0 0 0 4 1
100.0 0.0 0.0 40| 1320 280 120 4.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 16.0 4.0 2425 2,500
iy 120 4 1 2 27 33 19 4 0 0 0 0 0 0 0 0 0 0 25 5
100.0 3.3 0.8 170225 | 275|0 158 3.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 208 4.2 2,508 2,500
PRl 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(RAA) 100.0 0.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,500 1,500
f 271 7 2 12 92 67 41 4 0 0 0 0 0 0 0 0 0 0 34 12
25005 AR 100.0 2.6 0.7 44| 1339 247 151 1.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 125 4.4 2,240 1,500
14D (2,500 E 349 4 0 8 80| 115 75 7 0 0 0 0 0 0 0 0 0 0 54 6
#URAZE (5,000 FKiH 100.0 1.1 0.0 23| 229| 1330| 215 2.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 155 1.7 2,620 2,500
5.0005FBLE 444 6 0 8 53| 133| 123 16 1 0 1 0 0 0 0 0 0 0 90 13
100.0 1.4 0.0 1810 11.9 |7 300 27.7 3.6 0.2 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 00" 203 2.9 3.028] 2,500
C-4: <B¥MNBE> FRH
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
| 3 |23 5% 5|00 |58 on ko |on |25 B2 |88 (8b (88 (88| 8 | 8 | ®
o (==} (== [=3=] [ =] 2o L Pl Padi =2 oS == = = =3 < bl
* o 09 |00 00 |00 |00 |0 |uo |[ow |uwuo |ou |[oo oo |oo |oo o s m| F &
@ ® |B°BYEY|EY AT 5V |35 |85 |85 BF(RF (RS (RS (RS (R | | | ¢ | &
— FEES x x *x x s
(%) e ol BB o5 % |2 |2 2 2 |2 |2 |2 & | H4 o -
b i i b i i b i i *t M =]
[nEfs] || [0] [250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 84 3 22 15 1 0 1 1 0 0 0 0 75 19
100.0 7.7 0.3 2.0 1.4 0.1 0.0 0.1 0.1 0.0 0.0 0.0 0.0 6.8 1.7 3087 2,500
17 4 0 6 2 0 0 0 0 0 0 0 0 3 2
40BAA 100.0 3.4 0.0 5.1 1.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.6 1.7 4,031 4,000
Fgy  [1ORE 618 38 1 11 9 0 0 1 1 0 0 0 0 44 4
60E K i 100.0 6.1 0.2 1.8 1.5 0.0 0.0 0.2 0.2 0.0 0.0 0.0 0.0 7.1 0.6 3.279| 2,500
. 355 42 2 4 4 1 0 0 0 0 0 0 0 28 1
SoRuLE 10004 11.8 0.6 1.1 1.1 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.9 3.1 2,396] 2,500
477 32 1 12 10 0 0 0 0 0 0 0 0 27 6
20K 100.0 6.7 0.2 2.5 2.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.7 1.3 3.391 4,000
s [20FUE 500 42 0 8 4 1 0 1 1 0 0 0 0 40 7
405K 100.0 8.4 0.0 1.6 0.8 0.2 0.0 0.2 0.2 0.0 0.0 0.0 0.0 8.0 1.4 2,894 2,500
s 109 9 2 2 1 0 0 0 0 0 0 0 0 7 4
ot 100.0 8.3 1.8 1.8 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.4 3.7 2,668 2,500
- 53 3 0 0 1 0 0 0 0 0 0 0 0 5 1
100.0 5.7 0.0 38| 189 208 340 3.8 0.0 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.4 1.9 2,973| 2,500
=it 63 8 1 5 9 12 14 0 3 0 0 0 0 0 0 0 0 0 10 1
1000 127 1.6 790 143| 190 222 0.0 4.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 159 1.6 2495 2,500
[ 292 22 0 6 56 68 88 25 7 7 0 0 0 0 0 0 0 0 1 2
100.0 15 0.0 21| 192 233[ 301 8.6 2.4 2.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 38 0.7 3250 2,500
. 110 9 0 2 16 29 28 7 5 0 1 0 0 0 0 0 0 0 13 0
100.0 8.2 0.0 18| 145 | 26.4 | 255 6.4 4.5 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 00| 11.8 0.0 3.209| 2,500
- i 192 10 0 9 36 48 56 14 1 2 0 0 1 0 0 0 0 0 9 6
[Eil] 100.0 5.2 0.0 47| 188 250 292 7.3 0.5 1.0 0.0 0.0 0.5 0.0 0.0 0.0 0.0 0.0 4.7 3.1 3064 2,500
HEM= e 176 19 0 9 28 33 56 15 5 1 0 0 0 0 0 0 0 0 8 2
1000 108 0.0 510 159| 188 318 8.5 2.8 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 45 1.1 3036/ 2,500
T 57 4 0 3 15 9 16 2 0 2 0 0 0 0 0 0 0 0 4 2
100.0 7.0 0.0 53| 26.3|° 158" 28.1 35 0.0 35 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.0 35 2,868 2,500
mE 25 1 1 0 5 3 6 4 0 2 0 0 0 1 0 0 0 0 2 0
100.0 4.0 4.0 0.0 200 120" 240/ 16.0 0.0 8.0 0.0 0.0 0.0 4.0 0.0 0.0 0.0 0.0 8.0 0.0 4.750] 4,000
T 120 8 1 7 21 28 30 9 1 0 0 0 0 0 0 0 0 0 13 2
100.0 6.7 0.8 58| 17.5 | 23.3 | 250 1.5 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 108 1.7 2,781 2,500
L 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
(RMIA) 100.0 0.0 0.0 0.0 0.0 0.0 [100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4,000 4,000
f 271 39 2 20 53 46 62 13 6 3 0 0 0 0 0 0 0 0 20 7
25005 AR 1000 14.4 0.7 74 196 170 229 4.8 2.2 1.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 74 2.6 2.564] 2,500
14RO (2,500 E 349 23 0 13 72 84 86 27 9 6 0 0 0 0 0 0 0 0 29 0
#URAZE 5,000 FI K 100.0 6.6 0.0 37| 206| 241| 246 1.1 2.6 1.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.3 0.0 3,084 2,500
5.0005FILLE 444 20 1 8 65| 105| 159 36 7 6 1 0 1 1 0 0 0 0 25 9
100.0 4.5 0.2 1.8 146 | 236|358 8.1 1.6 1.4 0.2 0.0 0.2 0.2 0.0 0.0 0.0 0.0 5.6 2.0 3.441 4,000




c-5: <ENPE> kR
i

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
® | 3 23 55 22182 28 o0 mo|on 2o B2 |05 855888 8 | ® | =
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# S |09 |25 (00|05 |28 |09 |uo |ou |uo |[ow |oo oo |oo |[oo | © I 5 * #
@5 x |B°BYBY|EYEY 57 |BF (BT |85 RS RS (BS(RS(RS & |7 | % |« | &
— FEES X X * X s = =
%) Tlw o m o |m % % 2 2 %2 2 2 2 2 2 2 |*® a | =
i i i i bl i i bl b} £ =] =]
[mEfE] | [0] | [250] | [750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 [ 105 6 34 124 195] 275] 119 36 26 1 2 1 0 1 0 0 of 146 25
100.0 9.6 0.5 311 113 178] 251] 109 3.3 2.4 0.1 0.2 0.1 0.0 0.1 0.0 0.0 00| 133 2.3 3.507) 2,500
PRy 17 6 1 0 11 10 30 20 7 7 0 0 0 0 0 0 0 0 21 4
100.0 5.1 0.9 0.0 9.4 85| 256| 17.1 6.0 6.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 179 3.4 4,639 4,000
sy [(ORBLE 618 46 3 14 61 100 172 80 24 16 0 1 1 0 1 0 0 0 85 5
T |eomskiE 100.0 7.4 0.5 2.3 9.9 | 176|278 129 3.9 2.6 0.0 0.2 0.2 0.0 0.2 0.0 0.0 00| 138 0.8 3818 4,000
0BELE 355 52 2 20 51 76 7 19 5 3 1 1 0 0 0 0 0 0 40 14
1000 14.6 0.6 56| 144| 214| 200 5.4 1.4 0.8 0.3 0.3 0.0 0.0 0.0 0.0 0.0 00| 113 3.9 2,632| 2,500
20E R 477 39 3 7 51 73| 116 70 22 20 0 1 0 0 0 0 0 0 69 6
100.0 8.2 0.6 15| 107 | 153|0 243 [ 147 4.6 4.2 0.0 0.2 0.0 0.0 0.0 0.0 0.0 00| 145 1.3 3,981 4,000
sy [20FSE 500 54 1 23 53| 103| 131 42 12 6 1 0 1 0 1 0 0 0 59 13
0K 1000 108 0.2 46| 106 206 26.2 8.4 2.4 1.2 0.2 0.0 0.2 0.0 0.2 0.0 0.0 00| 118 2.6 3209 2,500
W0FELE 109 12 2 3 18 19 26 7 2 0 0 1 0 0 0 0 0 0 15 4
1000 11.0 1.8 28| 165 174 239 6.4 1.8 0.0 0.0 0.9 0.0 0.0 0.0 0.0 0.0 00| 138 3.7 2,875 2,500
i 53 7 0 2 6 10 10 7 2 1 0 0 0 0 0 0 0 0 6 2
100.0 | 13.2 0.0 38| 11.3| 189] 189[ 132 3.8 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 113 3.8 3289 2,500
i 63 8 1 5 6 7 9 4 5 0 0 0 0 0 0 0 0 0 16 2
1000 f 127 1.6 7.9 95| 11.1|l 143 6.3 7.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 254 3.2 3006 2,500
. 292 29 0 3 44 51 75 35 7 10 0 2 0 0 0 0 0 0 33 3
100.0 9.9 0.0 1.0 0 151 |0 175|257 [0 12.0 2.4 3.4 0.0 0.7 0.0 0.0 0.0 0.0 0.0 00| 113 1.0 3.597| 4,000
= 110 11 1 2 5 21 40 2 5 2 1 0 0 0 0 0 0 0 18 2
100.0 | 10.0 0.9 1.8 45| 19.1|0 364 1.8 4.5 1.8 0.9 0.0 0.0 0.0 0.0 0.0 0.0 00| 164 1.8 3492 4,000
i 192 10 3 4 24 42 54 28 3 3 0 0 1 0 0 0 0 0 15 5
i) " 100.0 5.2 1.6 21| 125| 21.9| 28.1| 146 1.6 1.6 0.0 0.0 0.5 0.0 0.0 0.0 0.0 0.0 7.8 2.6 3,573| 4,000
BEMS - 176 22 1 12 14 24 38 22 7 4 0 0 0 0 0 0 0 0 29 3
100.0 |1 125 0.6 6.8 8.0 [ 136|" 216 125 4.0 2.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 165 1.7 3375 2,500
E 57 5 0 1 6 15 13 6 2 3 0 0 0 0 0 0 0 0 5 1
100.0 8.8 0.0 1.8 105| 263| 228 105 3.5 5.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.8 1.8 3.686| 2,500
mE 25 1 0 1 2 4 5 4 2 2 0 0 0 0 1 0 0 0 3 0
100.0 4.0 0.0 4.0 8.0 | 16.0 | 200 16.0 8.0 8.0 0.0 0.0 0.0 0.0 4.0 0.0 0.0 00| 120 0.0 5739| 4,000
iy 120 11 0 4 16 20 30 11 3 1 0 0 0 0 0 0 0 0 20 4
100.0 9.2 0.0 33| 133 167 250 9.2 2.5 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 16.7 3.3 3.159| 2,500
IRl 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0
(RAA) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0 0.0
f 271 40 1 18 40 46 47 26 11 8 0 0 0 0 0 0 0 0 28 6
25005 AR 1000 14.8 0.4 66| 148| 17.0| 173 9.6 4.1 3.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 103 2.2 3,061 2,500
14D (2,500 E 349 29 0 9 44 69 85 37 13 11 0 1 0 0 0 0 0 0 44 7
#URAZE (5,000 FKiH 100.0 8.3 0.0 26| 126] 198 244| 106 3.7 32 0.0 0.3 0.0 0.0 0.0 0.0 0.0 0.0 126 2.0 3,591 2,500
5.0005FBLE 444 34 4 6 37 72| 137 54 12 6 1 1 1 0 1 0 0 0 68 10
100.0 7.7 0.9 1.4 83| 16.2]77309 [0 122 2.7 1.4 0.2 0.2 0.2 0.0 0.2 0.0 0.0 00| 153 2.3 3.758] _ 4.000
Cc-6: <E¥S ;> BRK
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
| 3 |23 5% 5|00 |58 on ko |on |25 B2 |88 (8b (88 (88| 8 | 8 | ®
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* o 09 |00 00 |00 |00 |0 |uo |[ow |uwuo |ou |[oo oo |oo |oo o s m| F &
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— FEES x x *x x s
(%) e ol BB o5 % |2 |2 2 2 |2 |2 |2 & | H4 o -
b i i b i i b i i *t M =]
[nEfs] || [0] [250] | [750. 1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 32 2 14 35 74] 200 200] 134 96 7 3 2 6 1 0 1 0] 254 35
100.0 2.9 0.2 1.3 3.2 68| 182| 182 122 8.8 0.6 0.3 0.2 0.5 0.1 0.0 0.1 00| 232 3.2 6.123 6.250]
Ry 17 0 0 0 4 7 6 25 26 16 1 0 0 1 0 0 0 0 29 2
100.0 0.0 0.0 0.0 3.4 6.0 5.1 0 214 | 222| 137 0.9 0.0 0.0 0.9 0.0 0.0 0.0 00| 248 1.7 7.529| 8,750
Fg  |[VORME 618 10 2 6 15 20| 122| 136 80 59 4 2 2 3 1 0 1 o] 137 9
60E K i 100.0 1.6 0.3 1.0 2.4 47("0 197" 220| 129 9.5 0.6 0.3 0.3 0.5 0.2 0.0 0.2 00| 222 1.5 6.497 6.250
S0 LLE 355 22 0 8 16 37 70 39 28 20 2 1 0 2 0 0 0 0 88 22
100.0 6.2 0.0 2.3 45| 1040 197 11.0 7.9 5.6 0.6 0.3 0.0 0.6 0.0 0.0 0.0 00| 248 6.2 4918 4,000
2065 477 7 2 2 15 26 76| 100 76 48 4 2 1 4 0 0 0 of 105 9
100.0 1.5 0.4 0.4 3.1 550 159 | 210" 1590 10.1 0.8 0.4 0.2 0.8 0.0 0.0 0.0 0.0 220 1.9 6.666 6.250
s [20FUE 500 19 0 9 15 37| 108 87 51 4 3 0 1 1 1 0 1 o] 115 16
405K 100.0 3.8 0.0 1.8 3.0 74| 206| 174 102 8.2 0.6 0.0 0.2 0.2 0.2 0.0 0.2 00| 230 3.2 5,799 6.250
W0ELE 109 6 0 3 4 10 18 13 7 7 0 1 0 1 0 0 0 0 31 8
100.0 5.5 0.0 2.8 3.7 92| 165| 11.9 6.4 6.4 0.0 0.9 0.0 0.9 0.0 0.0 0.0 00| 284 7.3 5218| 4,000
- 53 1 0 0 4 4 7 12 9 3 0 0 0 0 0 0 0 0 11 2
100.0 1.9 0.0 0.0 1.5 75| 132 | 22,6 || 17.0 5.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 208 3.8 5788|  6.250
=it 63 4 0 4 2 4 10 4 6 3 0 0 0 0 0 0 0 0 23 3
100.0 6.3 0.0 6.3 3.2 6.3 159 6.3 9.5 4.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1365 4.8 4520| 4,000
[ 292 7 0 1 7 21 54 48 37 34 4 1 1 3 0 0 0 0 64 10
100.0 2.4 0.0 0.3 2.4 72| 185| 164 127| 116 1.4 0.3 0.3 1.0 0.0 0.0 0.0 00| 219 3.4 6.622 6.250
- 110 3 0 0 3 3 20 13 14 16 1 1 1 0 0 0 0 0 34 1
100.0 2.7 0.0 0.0 2.7 27| 182| 118 127|0 145 0.9 0.9 0.9 0.0 0.0 0.0 0.0 0.0 1309 0.9 6,993 6.250
- i 192 4 0 1 7 13 40 52 22 14 0 1 0 1 0 0 1 0 32 4
Eil] 100.0 2.1 0.0 0.5 3.6 68| 208| 274 115 7.3 0.0 0.5 0.0 0.5 0.0 0.0 0.5 00| 16.7 2.1 6.170|  6.250
HEMs e 176 10 2 3 6 9 29 31 25 12 0 0 0 1 0 0 0 0 44 4
100.0 5.7 1.1 1.7 3.4 51| 165| 17.6| 142 6.8 0.0 0.0 0.0 0.6 0.0 0.0 0.0 00| 250 2.3 5,627 6.250
E 57 1 0 2 1 7 10 7 12 4 1 0 0 0 0 0 0 0 10 2
100.0 1.8 0.0 35 180 1230 1750 123" 211 7.0 1.8 0.0 0.0 0.0 0.0 0.0 0.0 00| 175 35 5,956 6.250
mE 25 1 0 0 2 2 2 5 2 3 1 0 0 1 1 0 0 0 5 0
100.0 4.0 0.0 0.0 8.0 8.0 8.0 [ 200 80| 120 4.0 0.0 0.0 4.0 4.0 0.0 0.0 00| 200 0.0 8113 6.250
M 120 1 0 3 3 10 26 27 7 7 0 0 0 0 0 0 0 0 30 6
100.0 0.8 0.0 2.5 2.5 8.3 21.7| 225 5.8 5.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 250 5.0 5292| 4,000
L 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0
(RIA) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 |100.0 0.0
B 271 16 0 7 17 22 53 34 27 18 2 0 0 0 0 0 0 0 61 14
25005 AR 100.0 5.9 0.0 2.6 6.3 81| 196| 125 100 6.6 0.7 0.0 0.0 0.0 0.0 0.0 0.0 00| 225 5.2 4,982| 4,000
14RO (2,500 E 349 7 0 3 10 27 70 65 51 27 1 0 0 1 0 0 0 0 8 9
#URAZE |5,0005 FIKiH 100.0 2.0 0.0 0.9 2.9 7.7]° 201 18.6 | 146 7.1 0.3 0.0 0.0 0.3 0.0 0.0 0.0 0.0 | 223 2.6 5,944 6,250
5.0005FLLE 444 8 2 3 8 22 72 98 54 48 3 3 2 5 1 0 1 o] 105 9
100.0 1.8 0.5 0.7 1.8 500 162] 221 ] 122]0 108 0.7 0.7 0.5 1.1 0.2 0.0 0.2 00| 236 2.0 6.955 6.250
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[mEfE] | [0] | [250] | [750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 [ 550 32] 214 137 33 15 3 0 0 0 0 0 0 0 0 0 0 94 18
1000 502 29| 195| 125 3.0 1.4 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.6 1.6 544 0
PRy 17 38 5 40 17 2 0 1 0 0 0 0 0 0 0 0 0 0 14 0
100.0 | 325 43| 342 145 1.7 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 120 0.0 660 750
sy [(ORBLE 618 299 15 131 82 19 10 2 0 0 0 0 0 0 0 0 0 0 54 6
T |eomskiE 100.0 | 48.4 24| 212| 133 3.1 1.6 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.7 1.0 582 0
0BELE 355 210 11 43 37 12 5 0 0 0 0 0 0 0 0 0 0 0 26 1
1000 | 59.2 31| 12.1| 104 34 1.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.3 3.1 442 0
20E R a7 227 16| 108 60 13 5 1 0 0 0 0 0 0 0 0 0 0 43 4
100.0 | 47.6 34| 226| 126 2.7 1.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.0 0.8 544 0
sy [20FSE 500 261 13 89 64 17 10 2 0 0 0 0 0 0 0 0 0 0 36 8
0K 1000 | 52.2 26| 17.8| 1238 3.4 2.0 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.2 1.6 572 0
W0FELE 109 59 2 16 12 2 0 0 0 0 0 0 0 0 0 0 0 0 13 5
1000 | 54.1 18] 147 11.0 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 119 4.6 390 0
i 53 33 2 8 4 1 0 0 0 0 0 0 0 0 0 0 0 0 4 1
100.0 | 62.3 38| 15.1 1.5 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 75 1.9 313 0
P 63 31 2 11 5 2 1 1 0 0 0 0 0 0 0 0 0 0 10 0
100.0 | 49.2 32| 175 7.9 3.2 1.6 1.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 159 0.0 594 0
. 202 147 9 56 39 13 5 1 0 0 0 0 0 0 0 0 0 0 18 4
100.0 |~ 50.3 310 192| 134 4.5 1.7 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.2 1.4 598 0
= 110 56 1 18 16 6 2 0 0 0 0 0 0 0 0 0 0 0 10 1
100.0 | 50.9 09 164 145 5.5 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.1 0.9 614 0
g 192 88 7 45 28 3 2 1 0 0 0 0 0 0 0 0 0 0 14 4
=] i 1000 | 458 36| 234| 146 1.6 1.0 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.3 2.1 570 0
BEM2 . 176 78 3 43 26 6 2 0 0 0 0 0 0 0 0 0 0 0 17 1
100.0 | 44.3 17|00 244 |0 148 3.4 1.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.7 0.6 601 250
o 57 34 1 13 5 1 0 0 0 0 0 0 0 0 0 0 0 0 3 0
100.0 | 59.6 18| 22.8 8.8 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.3 0.0 370 0
mE 25 9 2 7 2 0 1 0 0 0 0 0 0 0 0 0 0 0 4 0
100.0 | 36.0 8.0 280 8.0 0.0 4.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 16.0 0.0 607 250
iy 120 72 4 12 11 1 2 0 0 0 0 0 0 0 0 0 0 0 13 5
100.0 |°60.0 33| 100 9.2 0.8 1.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 108 4.2 363 0
PRl 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(RAA) 100.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 750 750
f 271 156 9 40 30 9 2 0 0 0 0 0 0 0 0 0 0 0 19 6
25005 AR 1000 57.6 33| 148] 111 3.3 0.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.0 2.2 438 0
14D (2,500 E 349 187 9 72 42 9 4 0 0 0 0 0 0 0 0 0 0 0 25 1
#URAZE (5,000 FKiH 100.0 {536 26| 206 120 2.6 1.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.2 0.3 488 0
5.0005FBLE 444 193 13 95 62 14 9 3 0 0 0 0 0 0 0 0 0 0 46 9
100.0 | 435 297 21.4|° 140 3.2 2.0 0.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 104 2.0 661 250
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[nEfs] || [0] [250] | [750. 1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 | 908 4 19 8 4 7 1 0 0 1 0 0 0 0 0 0 o] 126 18
1000 828 0.4 1.7 0.7 0.4 0.6 0.1 0.0 0.0 0.1 0.0 0.0 0.0 0.0 0.0 0.0 00| 115 1.6 90 0
Jry— 17 93 0 1 0 2 0 0 0 0 0 0 0 0 0 0 0 0 21 0
100.0 | 795 0.0 0.9 0.0 1.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 17.9 0.0 60 0
Fg  |[VORBE 618 511 3 13 5 2 5 0 0 0 1 0 0 0 0 0 0 0 75 3
604E K 100.0 | 82.7 0.5 2.1 08 0.3 0.8 0.0 0.0 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 00| 121 0.5 105 0
S0 LLE 355 300 1 5 3 0 2 1 0 0 0 0 0 0 0 0 0 0 30 13
100.0 | 845 0.3 1.4 0.8 0.0 0.6 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.5 3.7 73 0
2065 477 393 2 7 4 2 2 0 0 0 1 0 0 0 0 0 0 0 64 2
100.0 || 82.4 0.4 1.5 0.8 0.4 0.4 0.0 0.0 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 00| 134 0.4 94 0
s [20FUE 500 420 2 7 2 5 1 0 0 0 0 0 0 0 0 0 0 51 9
405K 100.0 | 84.0 0.4 1.4 0.6 0.4 1.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 102 1.8 94 0
W0ELE 109 89 0 5 1 0 0 0 0 0 0 0 0 0 0 0 0 0 9 5
100.0 | 81.7 0.0 4.6 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.3 4.6 55 0
- 53 43 0 0 0 1 1 0 0 0 0 0 0 0 0 0 0 0 7 1
100.0 |~ 811 0.0 0.0 0.0 1.9 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 132 1.9 144 0
=it 63 50 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12 1
1000 79.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00" 19.0 1.6 0 0
[ 292 235 3 8 2 2 3 0 0 0 0 0 0 0 0 0 0 0 35 4
100.0 | 805 1.0 2.7 0.7 0.7 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 120 1.4 106 0
. 110 96 0 0 1 1 0 0 0 0 1 0 0 0 0 0 0 0 10 1
100.0 || 87.3 0.0 0.0 0.9 0.9 0.0 0.0 0.0 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.1 0.9 179 0
- i 192 159 1 6 3 0 2 1 0 0 0 0 0 0 0 0 0 0 18 2
[Eil] 1000 828 0.5 3.1 1.6 0.0 1.0 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.4 1.0 137 0
HEM= e 176 146 0 3 1 0 1 0 0 0 0 0 0 0 0 0 0 0 23 2
100.0 | 83.0 0.0 1.7 0.6 0.0 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 131 1.1 51 0
i 57 52 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0
100.0 f*91.2 0.0 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.0 0.0 14 0
mE 25 21 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 3 0
100.0 | 84.0 0.0 0.0 4.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 120 0.0 68 0
T 120 100 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 14 5
100.0 || 83:3 0.0 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 117 4.2 7 0
@zl 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(RIA) 100.0 " 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 0
- 271 213 3 5 4 1 3 0 0 0 0 0 0 0 0 0 0 0 35 7
25005 A 1000 786 1.1 1.8 1.5 0.4 1.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 129 2.6 109 0
14RO (2,500 LE 349 305 0 3 4 1 1 0 0 0 0 0 0 0 0 0 0 0 33 2
#URAZE (5,000 FIKiH 100.0 {874 0.0 0.9 1.1 0.3 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.5 0.6 47 0
s 444 367 1 11 0 2 3 1 0 0 1 0 0 0 0 0 0 0 51 7
50005 FEE 1000 | 827 0.2 25 0.0 0.5 0.7 0.2 0.0 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 00| 115 1.6 118 0
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[mEfE| [0 | [250] | ([750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 3 0 7 97 437] 468 34 5 4 1 0 0 0 1 0 0 0 28 11
100.0 0.3 0.0 0.6 89| 399 427 3.1 0.5 0.4 0.1 0.0 0.0 0.0 0.1 0.0 0.0 0.0 2.6 1.0 3271 2,500
PRy 17 0 0 0 6 29 71 8 2 0 0 0 0 0 0 0 0 0 1 0
100.0 0.0 0.0 0.0 5.1 | 248| 607 6.8 1.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.0 3.733| 4,000
sy [(ORBE 618 0 0 3 50 | 235| 287 25 3 3 0 0 0 0 1 0 0 0 6 5
T |eomskiE 100.0 0.0 0.0 0.5 8.1 1380 464 4.0 0.5 0.5 0.0 0.0 0.0 0.0 0.2 0.0 0.0 0.0 1.0 0.8 3,388 4,000
o 355 3 0 4 41 169 110 1 0 1 1 0 0 0 0 0 0 0 21 4
100.0 08 0.0 1|l 115|476 (01310 03 0.0 0.3 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.9 1.1 2,904| 2,500
20E R 477 0 0 3 32| 169 | 230 21 4 2 0 0 0 0 1 0 0 0 12 3
100.0 0.0 0.0 0.6 6.7 | 35.4| 482 4.4 0.8 0.4 0.0 0.0 0.0 0.0 0.2 0.0 0.0 0.0 2.5 0.6 3483 4,000
sy [20FBE 500 2 0 4 55| 205| 202 12 1 2 1 0 0 0 0 0 0 0 10 6
0K 100.0 04 0.0 08| 11.0 410 404 2.4 0.2 0.4 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 1.2 3153 2,500
W0FELE 109 1 0 0 10 56 35 1 0 0 0 0 0 0 0 0 0 0 6 0
100.0 0.9 0.0 0.0 9.2 | 514 321 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.5 0.0 2,925| 2,500
i 53 0 0 0 4 17 24 4 1 1 0 0 0 0 0 0 0 0 1 1
100.0 0.0 0.0 0.0 7.5 | 321 | 453 1.5 1.9 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 1.9 3716 4,000
o 63 1 0 0 13 20 23 0 0 0 0 0 0 0 0 0 0 0 6 0
100.0 1.6 0.0 0.0 [ 206 31.7[ 365 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.5 0.0 2,833 2,500
. 292 0 0 3 17 114|142 6 3 0 0 0 0 0 0 0 0 0 5 2
100.0 0.0 0.0 1.0 5.8 | 39.0 | 486 2.1 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.7 3.314| 4,000
= 110 0 0 0 1 36 67 4 0 0 0 0 0 0 0 0 0 0 2 0
100.0 0.0 0.0 0.0 0.9 | 327|609 3.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.0 3,560 4,000
i 192 0 0 1 19 93 66 6 0 1 0 0 0 0 0 0 0 0 2 4
=] i 100.0 0.0 0.0 0.5 9.9 | 484 | 344 3.1 0.0 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 2.1 3089 2,500
BEMS . 176 2 0 2 15 62 75 9 0 2 0 0 0 0 1 0 0 0 8 0
100.0 1.1 0.0 1.1 8.5 | 1352 | 426 5.1 0.0 1.1 0.0 0.0 0.0 0.0 0.6 0.0 0.0 0.0 4.5 0.0 3484 4,000
o 57 0 0 1 7 26 20 1 0 0 0 0 0 0 0 0 0 0 2 0
100.0 0.0 0.0 18| 123 | 456 351 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 35 0.0 2,955 2,500
mE 25 0 0 0 3 10 10 0 0 0 0 0 0 0 0 0 0 0 0 2
100.0 0.0 0.0 0.0 [ 12.0 1 400 [ 40.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.0 3,022| 2,500
iy 120 0 0 0 17 57 38 4 1 0 1 0 0 0 0 0 0 0 2 0
100.0 0.0 0.0 0.0 142 475|317 3.3 0.8 0.0 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.0 3.114| 2,500
PRl 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
(RMA) 100.0 0.0 0.0 0.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4,000 4,000
f 271 1 0 4 31 104] 102 4 0 1 0 0 0 0 0 0 0 0 20 4
25005 A 100.0 04 0.0 15| 114 384 376 1.5 0.0 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 74 1.5 3052 2,500
14O (2,500 UL 349 1 0 3 35| 149 138 13 2 1 0 0 0 0 0 0 0 0 6 1
#URAZE (5,000 FKH 100.0 0.3 0.0 09| 100]| 427| 395 3.7 0.6 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.3 3,185 2,500
5.0005FBLE 444 1 0 0 27| 176| 214 15 3 2 1 0 0 0 1 0 0 0 2 2
100.0 0.2 0.0 0.0 6.1 | 396 | 482 3.4 0.7 0.5 0.2 0.0 0.0 0.0 0.2 0.0 0.0 0.0 0.5 0.5 3.455| 4,000
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b i i b i i b i i *t M =]
(mEfE | [0] [250] | [750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 3 0 1 55| 209] 689 81 10 3 1 1 0 0 0 1 0 0 31 11
100.0 0.3 0.0 0.1 50| 191 629 74 0.9 0.3 0.1 0.1 0.0 0.0 0.0 0.1 0.0 0.0 2.8 1.0 3847 4,000
Jry— 17 0 0 0 2 16 81 12 5 0 0 0 0 0 0 0 0 0 1 0
100.0 0.0 0.0 0.0 1.7 137|692 | 103 4.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.0 4.188| 4,000
Fgy  [VORBE 618 0 0 1 26 98| 413 62 4 2 0 1 0 0 0 1 0 0 6 4
60E K 100.0 0.0 0.0 0.2 4.2 |0 159|166.8 |1 10.0 0.6 0.3 0.0 0.2 0.0 0.0 0.0 0.2 0.0 0.0 1.0 0.6 4,002| 4,000
S0 LLE 355 3 0 0 27 95| 191 7 1 1 1 0 0 0 0 0 0 0 24 5
100.0 0.8 0.0 0.0 7.6 | 26.8 | 538 2.0 0.3 0.3 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.8 1.4 3.434| 4,000
2065 477 0 0 1 19 7 312 51 5 2 0 0 0 0 0 1 0 0 12 3
100.0 0.0 0.0 0.2 40| 149|654 | 107 1.0 0.4 0.0 0.0 0.0 0.0 0.0 0.2 0.0 0.0 2.5 0.6 4,058| 4,000
s [20FUE 500 2 0 0 30| 107] 310 26 4 1 1 1 0 0 0 0 0 0 13 5
405K 100.0 04 0.0 0.0 6.0 21.4|[ 62.0 5.2 0.8 0.2 0.2 0.2 0.0 0.0 0.0 0.0 0.0 0.0 2.6 1.0 3.716| 4,000
W0ELE 109 1 0 0 6 31 59 4 1 0 0 0 0 0 0 0 0 0 6 1
100.0 0.9 0.0 0.0 5.5 | 28.4| 541 3.7 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.5 0.9 3.493| 4,000
- 53 0 0 0 3 8 32 6 1 1 0 0 0 0 0 0 0 0 1 1
100.0 0.0 0.0 0.0 5.7 |0 15.1 | 60.4 | 11.3 1.9 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 1.9 4.118| 4,000
=it 63 1 0 0 8 10 36 2 0 0 0 0 0 0 0 0 0 0 5 1
100.0 1.6 0.0 00 127 159 57.1 3.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.9 1.6 3395 4,000
[ 292 0 0 0 8 51 196 26 3 0 0 0 0 0 0 0 0 0 6 2
100.0 0.0 0.0 0.0 27| 175|671 8.9 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.1 0.7 3916 4,000
. 110 0 0 0 0 18 81 8 1 0 0 0 0 0 0 0 0 0 2 0
100.0 0.0 0.0 0.0 0.0 | 16.4| 736 7.3 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.0 3,961 4,000
- i 192 0 0 0 14 40| 119 11 1 1 0 0 0 0 0 0 0 0 4 2
Eil] 100.0 0.0 0.0 0.0 7.3 | 208 | 62.0 5.7 0.5 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.1 1.0 3687  4.000
HEM% e 176 2 0 0 10 33 100 17 2 1 0 1 0 0 0 1 0 0 9 0
100.0 1.1 0.0 0.0 57| 188| 56.8 9.7 1.1 0.6 0.0 0.6 0.0 0.0 0.0 0.6 0.0 0.0 5.1 0.0 4,004 4,000
i 57 0 0 0 5 18 29 2 1 0 0 0 0 0 0 0 0 0 2 0
100.0 0.0 0.0 0.0 8.8 |131.6 |1 50.9 35 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 35 0.0 3.450| 4,000
mE 25 0 0 0 1 6 15 1 0 0 0 0 0 0 0 0 0 0 0 2
100.0 0.0 0.0 0.0 40| 240 60.0 4.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.0 3598 4,000
T 120 0 0 1 5 25 77 8 1 0 1 0 0 0 0 0 0 0 2 0
100.0 0.0 0.0 0.8 4.2 | 208 | 64.2 6.7 0.8 0.0 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.0 3.824| 4,000
FEEL 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
(RIA) 100.0 0.0 0.0 0.0 0.0 0.0 [100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4,000] 4,000
B 271 1 0 1 22 48| 150 19 1 1 0 0 0 0 0 0 0 0 23 5
25005 AR 100.0 0.4 0.0 0.4 81| 17.7| 554 7.0 0.4 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.5 1.8 3673 4,000
14RO (2,500 E 349 1 0 0 22 77| 215 23 3 1 0 0 0 0 0 0 0 0 6 1
HURARE (50005 Mk 100.0 0.3 0.0 0.0 6.3 | 22.1| 6.6 6.6 0.9 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.3 3,704| 4,000
s 444 1 0 0 10 79| 306 34 6 1 1 1 0 0 0 1 0 0 2 2
50005 FEE 100.0 0.2 0.0 0.0 23| 17.8| 689 7.7 1.4 0.2 0.2 0.2 0.0 0.0 0.0 0.2 0.0 0.0 0.5 0.5 4,040 4,000
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[mEfE| [0 | [250] | ([750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 3 0 1 22 88| 509 343 41 7 1 3 1 0 0 0 1 0 58 18
100.0 0.3 0.0 0.1 2.0 80| 464| 313 3.7 0.6 0.1 0.3 0.1 0.0 0.0 0.0 0.1 0.0 5.3 1.6 4899 4,000
PRy 17 0 0 0 1 8 50 46 3 6 0 0 0 0 0 0 0 0 2 1
100.0 0.0 0.0 0.0 0.9 68| 427| 393 2.6 5.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.9 5287| 4,000
sy [(ORBE 618 0 0 1 8 42| 298| 210 33 1 1 2 1 0 0 0 1 0 16 4
T |eomskiE 100.0 0.0 0.0 0.2 1.3 6.8 482| (340 5.3 0.2 0.2 0.3 0.2 0.0 0.0 0.0 0.2 0.0 2.6 0.6 5,071 4,000
o 355 3 0 0 13 38| 161 83 5 0 0 1 0 0 0 0 0 0 40 1
100.0 0.8 0.0 0.0 37| 107|454 | 234 1.4 0.0 0.0 0.3 0.0 0.0 0.0 0.0 0.0 00| 113 3.1 4,399 4,000
20E R 477 0 0 1 4 34 214 173 21 5 0 2 0 0 0 0 1 0 18 4
100.0 0.0 0.0 0.2 0.8 7.1 449| 363 4.4 1.0 0.0 0.4 0.0 0.0 0.0 0.0 0.2 0.0 3.8 0.8 5157| 4,000
sy [20FBE 500 2 0 0 16 45| 245|137 17 1 1 1 1 0 0 0 0 0 26 8
0K 100.0 0.4 0.0 0.0 3.2 9.0 49.0| 274 3.4 0.2 0.2 0.2 0.2 0.0 0.0 0.0 0.0 0.0 5.2 1.6 4,681 4,000
W0FELE 109 1 0 0 2 9 45 30 3 1 0 0 0 0 0 0 0 0 14 4
100.0 0.9 0.0 0.0 1.8 83| 413| 275 2.8 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 128 3.7 4,731 4,000
i 53 0 0 0 1 3 27 14 4 1 0 0 0 0 0 0 0 0 2 1
100.0 0.0 0.0 0.0 1.9 57| 509 | 264 7.5 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.8 1.9 5015 4,000
i 63 1 0 0 4 8 27 14 1 1 0 0 0 0 0 0 0 0 6 1
100.0 1.6 0.0 0.0 6.3 | 127| 429 222 1.6 1.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.5 1.6 4,313 4,000
. 292 0 0 0 2 19 137|102 14 2 0 0 0 0 0 0 0 0 11 5
100.0 0.0 0.0 0.0 0.7 6.5 46.9 | 134.9 4.8 0.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.8 1.7 5004| 4,000
= 110 0 0 0 0 2 47 49 4 0 1 0 0 0 0 0 0 0 7 0
100.0 0.0 0.0 0.0 0.0 18| 427 | 445 3.6 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.4 0.0 5320  6.250
g 192 0 0 0 3 18 94 59 4 1 0 0 0 0 0 0 0 0 10 3
i) i 100.0 0.0 0.0 0.0 1.6 94| 49.0| 307 2.1 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.2 1.6 4,696 4,000
HER . 176 2 0 0 5 16 70 58 9 2 0 2 1 0 0 0 1 0 10 0
100.0 1.1 0.0 0.0 2.8 9.1 39.8| 330 5.1 1.1 0.0 1.1 0.6 0.0 0.0 0.0 0.6 0.0 5.7 0.0 5346| 4,000
o 57 0 0 0 2 10 29 10 1 0 0 0 0 0 0 0 0 0 5 0
100.0 0.0 0.0 0.0 35| 175|509 [ 175 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.8 0.0 4139 4,000
mE 25 0 0 0 1 1 13 5 1 0 0 0 0 0 0 0 0 0 2 2
100.0 0.0 0.0 0.0 4.0 4.0 [ 520 200 4.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.0 8.0 4,571 4,000
iy 120 0 0 1 4 10 64 29 3 0 0 1 0 0 0 0 0 0 5 3
100.0 0.0 0.0 0.8 3.3 8.3 533| 242 2.5 0.0 0.0 0.8 0.0 0.0 0.0 0.0 0.0 0.0 4.2 2.5 4,567 4,000
PRl 1 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
(RMA) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.250|  6.250
f 271 1 0 1 12 26| 109 65 12 1 0 0 0 0 0 0 0 0 36 8
25005 A 100.0 04 0.0 0.4 4.4 96| 402 | 240 4.4 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 133 3.0 4,591 4,000
14O (2,500 UL 349 1 0 0 7 39| 167| 101 14 2 0 0 0 0 0 0 0 0 15 3
HURAKE [5,0005 MK 100.0 0.3 0.0 0.0 200 112|479 289 4.0 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.3 0.9 4,690 4,000
5.0005FBLE 444 1 0 0 3 20| 219| 166 14 4 1 3 1 0 0 0 1 0 7 4
100.0 0.2 0.0 0.0 0.7 45 493 374 3.2 0.9 0.2 0.7 0.2 0.0 0.0 0.0 0.2 0.0 1.6 0.9 5223| 4,000
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b i i b i i b i i *t =] =]
[nEfs] || [0] [250] | [750. 1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 3 0 0 13 441 281 355 89 21 5 4 1 0 1 0 1 o 246 32
100.0 0.3 0.0 0.0 12 40| 2561 324 8.1 1.9 0.5 0.4 0.1 0.0 0.1 0.0 0.1 00| 224 2.9 5.761 6.250]
PRy 17 0 0 0 0 2 33 53 9 3 2 1 0 0 0 0 0 0 13 1
100.0 0.0 0.0 0.0 0.0 17|00 282 [ 453 7.1 2.6 1.7 0.9 0.0 0.0 0.0 0.0 0.0 00| 11.1 0.9 6,063 6.250
Fgy  [VORBE 618 0 0 0 4 21 161 220 55 13 2 2 1 0 1 0 1 o] 125 12
60E K i 100.0 0.0 0.0 0.0 0.6 34| 26.1| 356 8.9 2.1 0.3 0.3 0.2 0.0 0.2 0.0 0.2 0.0 202 1.9 5938|  6.250
S0 LLE 355 3 0 0 9 21 87 79 24 5 1 1 0 0 0 0 0 o 108 17
100.0 0.8 0.0 0.0 2.5 59| 245| 223 6.8 1.4 0.3 0.3 0.0 0.0 0.0 0.0 0.0 00| 304 4.8 5235 4,000
2065 477 0 0 0 1 16] 107] 192 36 12 1 1 1 0 0 0 1 o 102 7
100.0 0.0 0.0 0.0 0.2 3.4 | 224 | 403 7.5 2.5 0.2 0.2 0.2 0.0 0.0 0.0 0.2 00| 21.4 1.5 6,014| 6,250
s [20FUE 500 2 0 0 11 20| 146 135 42 7 4 3 0 0 1 0 0 o] 112 17
405K 100.0 04 0.0 0.0 2.2 40[ 292 270 8.4 1.4 0.8 0.6 0.0 0.0 0.2 0.0 0.0 00| 224 3.4 5584|  6.250
W0ELE 109 1 0 0 1 8 27 26 10 2 0 0 0 0 0 0 0 0 28 6
100.0 0.9 0.0 0.0 0.9 73| 248| " 239 9.2 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 257 5.5 5360  6.250
- 53 0 0 0 0 1 18 14 5 1 0 0 0 0 0 0 0 0 12 2
100.0 0.0 0.0 0.0 0.0 1.9 |1134.0 [ 26.4 9.4 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 226 3.8 5564| 6,250
=it 63 1 0 0 1 8 16 15 6 0 0 1 0 0 0 0 0 0 14 1
100.0 1.6 0.0 0.0 160 127( 254 238 9.5 0.0 0.0 1.6 0.0 0.0 0.0 0.0 0.0 00| 222 1.6 5167| 4,000
[ 292 0 0 0 2 8 67| 105 28 6 1 1 0 0 0 0 0 0 67 7
100.0 0.0 0.0 0.0 0.7 27| 229| 360 9.6 2.1 0.3 0.3 0.0 0.0 0.0 0.0 0.0 00| 229 2.4 5916 6.250
. 110 0 0 0 0 0 19 40 10 5 0 1 0 0 0 0 0 0 32 3
100.0 0.0 0.0 0.0 0.0 0.0 17.3 | 36.4 9.1 4.5 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 29.1 2.7 6.480|  6.250
- i 192 0 0 0 2 11 54 65 14 3 1 0 0 0 0 0 0 0 36 6
Ei-] 100.0 0.0 0.0 0.0 1.0 57| 28.1| 133.9 1.3 1.6 0.5 0.0 0.0 0.0 0.0 0.0 0.0 00| 188 3.1 5.485 6.250
HEM= e 176 2 0 0 4 6 40 62 11 5 1 0 1 0 1 0 1 0 39 3
100.0 1.1 0.0 0.0 2.3 34| 227| 352 6.3 2.8 0.6 0.0 0.6 0.0 0.6 0.0 0.6 00| 222 1.7 6.164|  6.250
i 57 0 0 0 1 6 20 13 3 1 0 0 0 0 0 0 0 0 12 1
100.0 0.0 0.0 0.0 1.8 1 105 (7351 | 22.8 5.3 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 |7 21.1 1.8 4892| 4,000
mE 25 0 0 0 0 0 9 6 0 0 2 0 0 0 0 0 0 0 6 2
100.0 0.0 0.0 0.0 0.0 0.0 1360 240 0.0 0.0 8.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 240 8.0 5,941 4,000
T 120 0 0 0 3 4 38 33 10 0 0 1 0 0 0 0 0 0 27 4
100.0 0.0 0.0 0.0 2.5 33| 31.7| 275 8.3 0.0 0.0 0.8 0.0 0.0 0.0 0.0 0.0 00| 225 3.3 5354| 4,000
=t 1 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0
(RMIA) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 |100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8750 8,750
- 271 1 0 0 7 10 59 67 14 4 1 1 0 0 0 0 0 0 95 12
25005 A 100.0 04 0.0 0.0 2.6 37| 218| 247 5.2 1.5 0.4 0.4 0.0 0.0 0.0 0.0 0.0 00| 351 4.4 5413 6.250
14RO (2,500 E 349 1 0 0 5 23 84 99 37 8 1 0 0 0 0 0 0 0 84 7
#RURAZE |5,0005 FIRiE 100.0 0.3 0.0 0.0 1.4 6.6 241| 284 106 23 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 |1 241 2.0 5,609 6,250
5.0005FLLE 444 1 0 0 1 9| 131 178 34 9 3 3 1 0 1 0 1 0 62 10
100.0 0.2 0.0 0.0 0.2 2.0 295| 40.1 7.7 2.0 0.7 0.7 0.2 0.0 0.2 0.0 0.2 00| 140 2.3 6.023 6.250
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[mEfE] | [0] | [250] | [750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 5 0 11 111 498 390 34 3 5 0 1 0 0 1 0 0 0 26 11
100.0 0.5 0.0 1.0 104 454 356 3.1 0.3 0.5 0.0 0.1 0.0 0.0 0.1 0.0 0.0 0.0 2.4 1.0 3.134| 2500
PRy 17 0 0 0 6 36 65 7 2 0 0 0 0 0 0 0 0 0 1 0
100.0 0.0 0.0 0.0 51| 308| 556 6.0 1.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.0 3.623| 4,000
sy [(ORBLE 618 0 0 6 52| 273| 246 26 1 3 0 1 0 0 1 0 0 0 6 3
T |eomskiE 100.0 0.0 0.0 1.0 84| 442| 398 4.2 0.2 0.5 0.0 0.2 0.0 0.0 0.2 0.0 0.0 0.0 1.0 0.5 3,280 2,500
0BELE 355 4 0 5 53| 185 79 1 0 2 0 0 0 0 0 0 0 0 19 7
100.0 1.1 0.0 1.4 149 | 62.1|0 223 0.3 0.0 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.4 2.0 2,707| 2,500
20E R 477 0 0 5 33| 187 211 22 3 2 0 0 0 0 1 0 0 0 10 3
100.0 0.0 0.0 1.0 6.9 | 39.2| 442 4.6 0.6 0.4 0.0 0.0 0.0 0.0 0.2 0.0 0.0 0.0 2.1 0.6 3.402| 4,000
sy [20FSE 500 3 0 3 67| 244| 152 11 0 3 0 1 0 0 0 0 0 0 10 6
404 Kith 100.0 0.6 0.0 06| 134 488 304 2.2 0.0 0.6 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 2.0 1.2 2,974 2,500
W0FELE 109 1 0 3 11 60 26 1 0 0 0 0 0 0 0 0 0 0 6 1
100.0 0.9 0.0 28| 101 550 239 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.5 0.9 2,735| 2,500
i 53 0 0 0 4 21 20 5 0 1 0 0 0 0 0 0 0 0 1 1
100.0 0.0 0.0 0.0 7.5 | 396| 377 9.4 0.0 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 1.9 3549 4,000
i 63 2 0 0 14 23 18 0 0 0 0 0 0 0 0 0 0 0 5 1
100.0 3.2 0.0 00| 222 365 286 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.9 1.6 2,640 2,500
. 292 0 0 5 16| 135] 120 7 2 1 0 0 0 0 0 0 0 0 5 1
100.0 0.0 0.0 1.7 5.5 | 462 | 411 2.4 0.7 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.3 3209 2,500
a= 110 0 0 0 4 44 58 2 0 0 0 0 0 0 0 0 0 0 2 0
100.0 0.0 0.0 0.0 3.6 | 400| 527 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.0 3338 4,000
- 192 0 0 5 23 95 56 6 0 1 0 0 0 0 0 0 0 0 1 5
i) i 100.0 0.0 0.0 26| 120 495 292 3.1 0.0 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 2.6 2,949 2,500
HEMR - 176 2 0 1 19 70 64 9 0 1 0 1 0 0 1 0 0 0 8 0
100.0 1.1 0.0 0.6 [ 108 398 1364 5.1 0.0 0.6 0.0 0.6 0.0 0.0 0.6 0.0 0.0 0.0 4.5 0.0 3402 2,500
E 57 0 0 0 9 25 20 1 0 0 0 0 0 0 0 0 0 0 2 0
100.0 0.0 0.0 00| 158 439| 351 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 35 0.0 2,950 2,500
mE 25 0 0 0 4 12 7 0 0 0 0 0 0 0 0 0 0 0 0 2
100.0 0.0 0.0 0.0 [ 16.0 | 480 280 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.0 2,783 2,500
iy 120 0 0 0 18 68 26 4 1 1 0 0 0 0 0 0 0 0 2 0
100.0 0.0 0.0 0.0 150867 [ 21.7 3.3 0.8 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.0 2,932 2,500
PRl 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
(RAA) 100.0 0.0 0.0 0.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4,000[ 4,000
f 271 2 0 5 35| 113 87 5 0 1 0 0 0 0 0 0 0 0 18 5
25005 AR 100.0 0.7 0.0 180 129 | a17] 321 1.8 0.0 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.6 1.8 2,941 2,500
14D (2,500 E 349 1 0 6 40| 17 11 11 2 1 0 0 0 0 0 0 0 0 6 0
#URAZE (5,000 FKiH 100.0 0.3 0.0 1.7 115 490 318 3.2 0.6 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.0 3013 2,500
5.0005FBLE 444 1 0 0 32| 203 180 16 1 3 0 1 0 0 1 0 0 0 2 4
100.0 0.2 0.0 0.0 7.2 | 457 | 405 3.6 0.2 0.7 0.0 0.2 0.0 0.0 0.2 0.0 0.0 0.0 0.5 0.9 3.337) 2,500
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[nEfs] || [0] [250] | [750. 1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 26 0 12 69 129 226] 201 60 46 6 4 3 6 0 0 1 2] 261 44
100.0 2.4 0.0 1.1 63| 118] 206 183 5.5 4.2 0.5 0.4 0.3 0.5 0.0 0.0 0.1 02| 238 4.0 5210] 4,000
Jry— 17 1 0 4 6 " 32 32 7 5 1 1 0 0 0 0 0 0 16 1
100.0 0.9 0.0 3.4 5.1 9.4 | 27.4| 274 6.0 4.3 0.9 0.9 0.0 0.0 0.0 0.0 0.0 00| 137 0.9 5150 4,000
Fgy  [VORE 618 15 0 4 41 69| 140 124 40 31 3 3 3 3 0 0 0 2| 127 13
60E K i 100.0 24 0.0 0.6 6.6 1 11.2( 227 | 201 6.5 5.0 0.5 0.5 0.5 0.5 0.0 0.0 0.0 0.3 206 2.1 5407| 4,000
S0 LLE 355 10 0 4 21 49 53 43 13 10 2 0 0 3 0 0 1 o 117 29
100.0 2.8 0.0 1.1 59 |0 1380 149 121 3.7 2.8 0.6 0.0 0.0 0.8 0.0 0.0 0.3 0.0/ 1330 8.2 4.804| 4,000
2065 477 6 0 7 26 52 113 104 31 25 0 2 2 2 0 0 0 o 101 6
100.0 1.3 0.0 1.5 5.5 |0 109 | 237 [ 21.8 6.5 5.2 0.0 0.4 0.4 0.4 0.0 0.0 0.0 0.0 21.2 1.3 5253| 4,000
s [20FUE 500 19 0 4 36 60 93 78 27 18 5 2 1 4 0 0 1 2| 124 26
405K 100.0 3.8 0.0 0.8 7.2 |0 1200 186 [ 156 5.4 3.6 1.0 0.4 0.2 0.8 0.0 0.0 0.2 04| 248 5.2 5315 4,000
W0ELE 109 1 0 1 6 17 19 18 2 3 1 0 0 0 0 0 0 0 30 1
100.0 0.9 0.0 0.9 5.5 156| 17.4 [ 165 1.8 2.8 0.9 0.0 0.0 0.0 0.0 0.0 0.0 00| 275[ 101 4.496| 4,000
- 53 0 0 0 1 9 12 11 3 4 0 0 0 1 0 0 0 0 9 3
100.0 0.0 0.0 0.0 1.9 |0 17.0|" 226 | 208 5.7 7.5 0.0 0.0 0.0 1.9 0.0 0.0 0.0 00| 17.0 5.7 5720| 4,000
=it 63 1 0 0 6 5 9 10 1 4 0 0 0 0 0 0 0 0 24 3
100.0 1.6 0.0 0.0 9.5 79| 143| 159 1.6 6.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 381 4.8 4826] 4,000
[ 292 9 0 3 17 28 64 56 13 14 0 1 1 3 0 0 0 1 68 14
100.0 3.1 0.0 1.0 5.8 96 219| 19.2 4.5 4.8 0.0 0.3 0.3 1.0 0.0 0.0 0.0 03| 233 4.8 5369| 4,000
- 110 4 0 0 3 10 18 24 9 7 1 0 0 0 0 0 0 0 27 7
100.0 3.6 0.0 0.0 2.7 9.1 16.4| 218 8.2 6.4 0.9 0.0 0.0 0.0 0.0 0.0 0.0 00| 245 6.4 5,563 6.250
- i 192 3 0 4 13 30 39 33 8 1 1 0 0 1 0 0 0 0 44 5
Fi-] 100.0 1.6 0.0 2.1 6.8 | 156| 203 172 4.2 5.7 0.5 0.0 0.0 0.5 0.0 0.0 0.0 00| 229 2.6 4823 4,000
HEM= e 176 5 0 4 13 20 38 29 15 4 0 3 2 0 0 0 0 0 39 4
100.0 2.8 0.0 2.3 74 114l 216 165 8.5 2.3 0.0 1.7 1.1 0.0 0.0 0.0 0.0 00| 222 2.3 5024| 4,000
E 57 1 0 1 7 7 17 11 0 0 1 0 0 0 0 0 0 0 12 0
100.0 1.8 0.0 180 123 |0 123|298 " 19.3 0.0 0.0 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 |7 21.1 0.0 3,983| 4,000
mE 25 0 0 0 0 1 7 4 2 1 0 0 0 0 0 0 0 1 7 2
100.0 0.0 0.0 0.0 0.0 40( 280 160 8.0 4.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 40| 280 8.0 8.391 5.125
T 120 2 0 0 8 18 22 22 9 1 3 0 0 1 0 0 1 0 29 4
100.0 1.7 0.0 0.0 6.7 150 183 | 183 7.5 0.8 2.5 0.0 0.0 0.8 0.0 0.0 0.8 00| 242 3.3 5532| 4,000
L 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(RMIA) 100.0 0.0 0.0 0.0 0.0 |"100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2,500 2,500
- 271 4 0 3 8 19 42 18 9 4 0 0 1 0 0 0 0 1 136 26
25005 A 100.0 1.5 0.0 1.1 3.0 70| 155 6.6 3.3 1.5 0.0 0.0 0.4 0.0 0.0 0.0 0.0 04| 502 9.6 4.906] 4,000
14RO (2,500 E 349 13 0 2 26 39 69 65 22 13 1 2 0 2 0 0 0 0 85 10
HURARE (50005 MK 100.0 3.7 0.0 0.6 74| 112|198 [ 186 6.3 3.7 0.3 0.6 0.0 0.6 0.0 0.0 0.0 00| 244 2.9 4,922| 4,000
5.0005FBLE 444 8 0 7 32 67| 112 112 29 27 5 2 2 4 0 0 1 1 29 6
100.0 1.8 0.0 1.6 7.2 0 151|252 | 252 6.5 6.1 1.1 0.5 0.5 0.9 0.0 0.0 0.2 0.2 6.5 14 5,501 4,000
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[mEfE| [0 | [250] | ([750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1006 | 645 14 89 69 40 27 4 3 2 1 1 0 0 0 0 0 of 161 40
1000 589 1.3 8.1 6.3 3.6 2.5 04 0.3 0.2 0.1 0.1 0.0 0.0 0.0 0.0 0.0 00| 147 3.6 542 0
PRy 17 72 0 7 12 4 3 0 1 0 0 0 0 0 0 0 0 0 15 3
100.0 | 61.5 0.0 60| 103 3.4 2.6 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 128 2.6 545 0
sy [(ORBLE 618 377 5 47 37 24 20 3 2 2 1 1 0 0 0 0 0 0 80 19
T |eomskiE 100.0 | 61.0 0.8 7.6 6.0 3.9 3.2 0.5 0.3 0.3 0.2 0.2 0.0 0.0 0.0 0.0 0.0 00| 129 3.1 618 0
0BELE 355 191 9 35 20 12 4 1 0 0 0 0 0 0 0 0 0 0 65 18
1000 | 53.8 2.5 9.9 5.6 34 1.1 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 183 5.1 407 0
20E R 477 303 2 39 28 16 13 0 3 1 1 1 0 0 0 0 0 0 60 10
100.0 | 63.5 0.4 8.2 5.9 3.4 2.7 0.0 0.6 0.2 0.2 0.2 0.0 0.0 0.0 0.0 0.0 00| 126 2.1 568 0
sy [20FSE 500 283 9 40 33 19 1 4 0 1 0 0 0 0 0 0 0 0 79 21
404 Kith 100.0 | 56.6 1.8 8.0 6.6 3.8 2.2 0.8 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 158 4.2 524 0
W0FELE 109 56 3 9 8 5 3 0 0 0 0 0 0 0 0 0 0 0 17 8
1000 51.4 2.8 8.3 7.3 4.6 2.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 156 7.3 524 0
S 53 36 0 3 2 2 1 0 0 0 0 0 0 0 0 0 0 0 7 2
i 100.0 | 67.9 0.0 5.7 3.8 3.8 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 132 3.8 324 0
i 63 34 1 5 3 1 2 0 0 0 0 0 0 0 0 0 0 0 15 2
100.0 | 54.0 1.6 7.9 4.8 1.6 3.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 238 3.2 413 0
. 202 174 4 18 22 10 7 2 1 1 1 0 0 0 0 0 0 0 38 14
100.0 | 59.6 1.4 6.2 1.5 3.4 2.4 0.7 0.3 0.3 0.3 0.0 0.0 0.0 0.0 0.0 0.0 00| 130 4.8 611 0
= 110 73 1 5 4 10 0 0 0 0 0 0 0 0 0 0 0 0 13 4
100.0 | 66.4 0.9 4.5 3.6 9.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 118 3.6 376 0
i 192 113 1 25 9 5 4 1 0 0 0 0 0 0 0 0 0 0 27 7
i) i 100.0 | 58.9 05 13.0 4.7 2.6 2.1 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 141 3.6 426 0
HEMR - 176 89 2 14 20 7 7 0 1 1 0 1 0 0 0 0 0 0 30 4
100.0 | 50.6 1.1 80| 114 4.0 4.0 0.0 0.6 0.6 0.0 0.6 0.0 0.0 0.0 0.0 0.0 00| 17.0 2.3 864 0
i 57 41 1 5 1 1 1 0 1 0 0 0 0 0 0 0 0 0 6 0
100.0 | 71.9 1.8 8.8 1.8 1.8 1.8 0.0 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 105 0.0 407 0
mE 25 13 1 3 2 0 2 0 0 0 0 0 0 0 0 0 0 0 3 1
100.0 | 52.0 40 120 8.0 0.0 8.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 120 4.0 643 0
iy 120 67 3 10 6 4 3 1 0 0 0 0 0 0 0 0 0 0 21 5
100.0 | 55.8 2.5 8.3 5.0 3.3 2.5 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 175 4.2 484 0
iRl 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(RAA) 100.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0 0
f 271 147 5 13 16 6 4 0 0 0 0 1 0 0 0 0 0 0 65 14
25005 AR 1000 54.2 1.8 4.8 5.9 2.2 1.5 0.0 0.0 0.0 0.0 0.4 0.0 0.0 0.0 0.0 0.0 00| 240 5.2 428 0
14D (2,500 E 349 216 6 29 20 20 13 2 0 1 0 0 0 0 0 0 0 0 36 6
#URAZE (5,000 FKiH 100.0 f 61.9 1.7 8.3 5.7 5.7 3.7 0.6 0.0 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 103 1.7 583 0
5.0005FBLE 440 264 3 46 30 14 10 2 3 1 1 0 0 0 0 0 0 0 53 17
100.0 | 59.5 07[ 104 6.8 3.2 2.3 0.5 0.7 0.2 0.2 0.0 0.0 0.0 0.0 0.0 0.0 00| 11.9 3.8 586 0
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[nEfs] || [0] [250] | [750. 1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 112 10] 115] 294 200] 231 27 0 0 0 0 0 0 0 0 0 0 4 13
1000 102 09 105/ 268| 265 211 2.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.4 1.2 2176 2,500
Jry— 17 12 0 15 26 34 25 2 0 0 0 0 0 0 0 0 0 0 1 2
100.0 | 10.3 0.0 128" 222|201 |1 214 1.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 1.7 2173 2,500
Fgp  |[VOBHE 618 68 6 63| 162 | 160| 141 12 0 0 0 0 0 0 0 0 0 0 1 5
60E K i 1000 11.0 1.0]0 102 [ 26.2 | 259 [ 2238 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 0.8 2174 2,500
S0 LLE 355 30 4 37| 105 94 64 13 0 0 0 0 0 0 0 0 0 0 2 6
100.0 8.5 1000 104|296 265 18.0 3.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 1.7 2,186 1,500
2065 477 62 4 61 18] 124 94 7 0 0 0 0 0 0 0 0 0 0 2 5
100.0 | 13.0 08| 128|247 260 197 1.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.4 1.0 2,029 1,500
s [20FUE 500 43 4 40| 146 | 135| 111 15 0 0 0 0 0 0 0 0 0 0 0 6
405K 100.0 8.6 0.8 80| 292 270 222 3.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.2 2,278 2,500
W0ELE 109 6 2 14 26 28 24 5 0 0 0 0 0 0 0 0 0 0 2 2
100.0 5.5 180 128 | 239 | 257 [ 22,0 4.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 1.8 2,355| 2,500
- 53 11 0 7 15 8 10 1 0 0 0 0 0 0 0 0 0 0 0 1
100.0 |~ 20.8 0.0 132 283| 151[ 189 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 1,808 1,500
=it 63 6 1 11 20 13 7 2 0 0 0 0 0 0 0 0 0 0 2 1
100.0 9.5 160 1751317 206 111 3.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.2 1.6 1,858 1,500
[ 292 24 2 23 73 83 77 9 0 0 0 0 0 0 0 0 0 0 1 0
100.0 8.2 0.7 79 250 284 264 3.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.3 0.0 2,402 2,500
- 110 8 2 5 24 38 28 3 0 0 0 0 0 0 0 0 0 0 0 2
100.0 7.3 1.8 45| 21.8 1345 255 2.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 2,463 2,500
- i 192 21 0 31 63 43 28 2 0 0 0 0 0 0 0 0 0 0 0 4
[Ei] 1000 109 001 16.1| 328 224 146 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.1 1.860 1,500
HEM= e 176 21 1 11 42 49 46 5 0 0 0 0 0 0 0 0 0 0 0 1
100.0f° 11.9 0.6 63| 239| 278 26.1 2.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 2.339] 2,500
E 57 6 2 9 15 19 5 1 0 0 0 0 0 0 0 0 0 0 0 0
1000 105 35| 158 | 26.3 333 8.8 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.816 1,500
mE 25 0 0 1 4 11 7 0 0 0 0 0 0 0 0 0 0 0 0 2
100.0 0.0 0.0 40| 16.0 [ 440 280 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.0 2707 2,500
M 120 14 2 16 35 24 22 4 0 0 0 0 0 0 0 0 0 0 1 2
100.0 | 11.7 1700 133|292 |11 200" 183 3.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.8 1.7 2,034 1,500
@zl 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(RMIA) 100.0 0.0 0.0 0.0 |7100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,500 1,500
- 271 33 2 32 77 63 52 6 0 0 0 0 0 0 0 0 0 0 3 3
25005 AR 1000 122 07 118 284 232[ 192 2.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.1 1.1 2,049 1,500
14RO (2,500 LE 349 44 5 39 93 84 7 10 0 0 0 0 0 0 0 0 0 0 1 2
HURARE [5,0005 MK 100.0 |1 12.6 140 112266 | 24.1 | 203 2.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.3 0.6 2,100 1,500
5.0005FLLE 444 31 3 40| 116| 135] 103 10 0 0 0 0 0 0 0 0 0 0 0 6
100.0 7.0 0.7 9.0 26.1 | 304" 232 2.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 14 2,321 2,500
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[mEfE] | [0] | [250] | [750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 [ 365] 158 220 83 16 9 2 0 0 0 0 0 0 0 0 0 o] 213 30
10004 333[ 144 201 1.6 1.5 0.8 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 194 2.7 489 250
PRy 17 46 20 23 7 0 0 0 0 0 0 0 0 0 0 0 0 0 18 3
100.0 | 139.3 | 17.1 |1 19.7 6.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 154 2.6 341 250
sy [(ORBLE 618 220 90| 123 47 11 7 0 0 0 0 0 0 0 0 0 0 o 107 13
T |eomskiE 1000 356 | 146 19.9 7.6 1.8 1.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 17.3 2.1 483 250
0BELE 355 98 46 73 28 5 2 2 0 0 0 0 0 0 0 0 0 0 87 14
1000 276 13.0| 206 7.9 1.4 0.6 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 245 3.9 556 250
20E R 477 188 74 92 32 8 2 0 0 0 0 0 0 0 0 0 0 0 75 6
100.0 | 39.4| 155| 19.3 6.7 1.7 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 157 1.3 413 250
sy [20FSE 500 149 66| 108 38 6 7 1 0 0 0 0 0 0 0 0 0 0| 106 19
0K 1000 298| 13.2| 216 7.6 1.2 1.4 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 212 3.8 543 250
W0FELE 109 26 15 19 12 2 0 1 0 0 0 0 0 0 0 0 0 0 29 5
10004 239 138| 174| 11.0 1.8 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 266 4.6 630 250
_— 53 23 8 6 4 3 1 0 0 0 0 0 0 0 0 0 0 0 7 1
100.0 | 434 15.1| 113 1.5 5.7 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 132 1.9 533 0
i 63 21 7 12 4 1 0 0 0 0 0 0 0 0 0 0 0 0 16 2
10004 333 [ 111" 19.0 6.3 1.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 254 3.2 428 250
. 292 103 33 64 26 3 5 1 0 0 0 0 0 0 0 0 0 0 48 9
100.0 | 7353 |1 11.3 |1 21.9 8.9 1.0 1.7 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 16.4 3.1 549 250
= 110 36 18 18 14 0 1 1 0 0 0 0 0 0 0 0 0 0 16 6
100.0 | 32.7| 16.4| 164| 127 0.0 0.9 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 145 5.5 560 250
g 192 53 32 39 16 3 2 0 0 0 0 0 0 0 0 0 0 0 42 5
i) i 1000 276 | 16.7| 203 8.3 1.6 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 219 2.6 529 250
BEM2 . 176 70 19 26 12 2 0 0 0 0 0 0 0 0 0 0 0 0 42 5
100.0 |39.8 | 108 | 148 6.8 1.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 239 2.8 366 0
o 57 21 9 16 2 0 0 0 0 0 0 0 0 0 0 0 0 0 9 0
1000 36.8 | 158 28.1 3.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 158 0.0 359 250
mE 25 8 1 7 0 0 0 0 0 0 0 0 0 0 0 0 0 0 9 0
100.0 | 32.0 4.0 280 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 136.0 0.0 344 125
iy 120 26 30 31 4 4 0 0 0 0 0 0 0 0 0 0 0 0 23 2
100.0 |© 21.7 | 25.0 | 25.8 3.3 3.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00" 192 1.7 492 250
iRl 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(RAA) 100.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 750 750
f 271 84 33 49 22 2 2 0 0 0 0 0 0 0 0 0 0 0 7 8
25005 AR 1000 310" 122 181 8.1 0.7 0.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 262 3.0 474 250
14D (2,500 E 349 115 50 80 22 5 6 1 0 0 0 0 0 0 0 0 0 0 65 5
#URAZE (5,000 FKiH 100.0  '33.0| 14.3| 229 6.3 1.4 1.7 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 186 1.4 531 250
5.0005FBLE 444 158 72 84 35 9 1 1 0 0 0 0 0 0 0 0 0 0 7 13
1000 § 356 [ 16.2]" 189 7.9 2.0 0.2 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00" 16.0 2.9 462 250
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b i i b i i b i i *t M =]
[nEfs] || [0] [250] | [750. 1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 | 526 16 80 92 31 24 2 0 1 0 0 0 0 0 0 0 o] 285 39
10004 480 15 7.3 8.4 2.8 2.2 0.2 0.0 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 001 260 3.6 517 0
Jry— 17 70 1 3 6 0 1 0 0 0 0 0 0 0 0 0 0 0 32 4
100.0 | 59.8 0.9 2.6 5.1 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 274 3.4 191 0
Fg  [VORE 618 321 8 45 48 17 18 2 0 1 0 0 0 0 0 0 0 o] 145 13
60E K i 100.0 f* 51.9 1.3 7.3 7.8 2.8 2.9 0.3 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00" 235 2.1 535 0
S0 LLE 355 134 7 31 37 14 5 0 0 0 0 0 0 0 0 0 0 0| 106 21
100.0 | 137.7 2.0 87| 104 3.9 1.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 299 5.9 594 0
2065 4717 278 4 31 30 9 8 0 0 1 0 0 0 0 0 0 0 o 108 8
100.0 || 58.3 0.8 6.5 6.3 1.9 1.7 0.0 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 226 1.7 374 0
s [20FUE 500 212 10 4 50 18 14 1 0 0 0 0 0 0 0 0 0 o 133 21
ENES S 100.0 | 42.4 2.0 82 100 3.6 2.8 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 266 4.2 623 0
W0ELE 109 34 2 8 12 4 2 1 0 0 0 0 0 0 0 0 0 0 37 9
100.0 | 31.2 1.8 73| 11.0 3.7 1.8 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 339 8.3 774 0
- 53 27 0 3 9 2 1 0 0 0 0 0 0 0 0 0 0 0 10 1
100.0 | 50.9 0.0 570 17.0 3.8 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00" 189 1.9 589 0
=it 63 26 4 3 7 4 0 0 0 0 0 0 0 0 0 0 0 0 16 3
1000 41.3 6.3 48[ 111 6.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 254 4.8 540 0
[ 292 154 2 20 21 6 1 0 0 0 0 0 0 0 0 0 0 0 66 12
100.0 | 52.7 0.7 6.8 7.2 2.1 38 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 226 4.1 495 0
- 110 52 3 7 10 5 4 1 0 0 0 0 0 0 0 0 0 0 23 5
100.0 | 47.3 2.7 6.4 9.1 4.5 3.6 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 209 4.5 680 0
- i 192 89 2 11 21 4 2 0 0 0 0 0 0 0 0 0 0 0 60 3
Eil] 1000 | 46.4 1.0 57 109 2.1 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1313 1.6 452 0
HEMS e 176 83 0 19 16 3 5 0 0 1 0 0 0 0 0 0 0 0 44 5
100.0 | 47.2 00 108 9.1 1.7 2.8 0.0 0.0 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 250 2.8 606 0
i 57 31 2 8 2 1 0 0 0 0 0 0 0 0 0 0 0 0 12 1
100.0 §*54.4 350 140 35 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 |7 21.1 1.8 273 0
mE 25 12 0 1 0 2 0 1 0 0 0 0 0 0 0 0 0 0 9 0
100.0 | 480 0.0 4.0 0.0 8.0 0.0 4.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 136.0 0.0 750 0
T 120 50 3 8 6 4 1 0 0 0 0 0 0 0 0 0 0 0 4 7
100.0 |~ 41.7 2.5 6.7 5.0 3.3 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 342 5.8 413 0
Bl 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0
(RMIA) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 |100.0 0.0
f 271 108 3 18 35 8 3 1 0 0 0 0 0 0 0 0 0 0 81 14
25005 A 1000 39.9 1.1 6.6 129 3.0 1.1 04 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 299 5.2 597 0
14RO (2,500 E a9 177 3 27 25 6 8 0 0 1 0 0 0 0 0 0 0 0 95 7
#URAZE |5,0007 FIKiH 100.0 f* 50.7 0.9 7.1 7.2 1.7 23 0.0 0.0 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 272 2.0 473 0
5.0005FBLE 440 228 10 33 31 15 13 1 0 0 0 0 0 0 0 0 0 o 101 12
1000 § 51.4 2.3 74 7.0 3.4 2.9 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 001" 227 2.7 512 0




H-19: <XW#H> /SR
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
® | 3 23 55 22182 28 o0 mo|on 2o B2 |05 855888 8 | ® | =
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# S |g° |33 |28 |99 |23 |02 |uwo |ou |ue |ouw |oo oo |oo [ | © I 5] * #
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— FEES X X * X s = =
(%) mlE B B B B |2 |2 |2 %2 2 12 |2 |2 |2 |# o
i i i i bl i i bl b} £ M =]
[mEfE| [0 | [250] | ([750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 | 358 27] 15| 226 170 138 12 2 0 0 0 0 0 0 0 0 0 31 17
100.0 | 327 25| 105] 2060 155] 126 1.1 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.8 1.6 1433 1,500
PRy 17 44 5 15 18 20 10 0 0 0 0 0 0 0 0 0 0 0 3 2
100.0 | 37.6 43| 128 154| 174 8.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.6 1.7 1,156 750
sy [(ORBLE 618 212 15 58| 122 97 84 5 1 0 0 0 0 0 0 0 0 0 18 6
T |eomskiE 100.0 |°134.3 2.4 9.4 197 157| 136 0.8 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.9 1.0 1.429 1,500
0BELE 355 99 7 42 84 52 44 7 1 0 0 0 0 0 0 0 0 0 10 9
100.0 | 27.9 200 11.8] 237 146 124 2.0 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.8 25 1,541 1,500
20E R 477 178 15 47 92 73 53 1 1 0 0 0 0 0 0 0 0 0 12 5
100.0 | 137.3 3.1 99| 193] 153 11.1 0.2 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.5 1.0 1,275 750
sy [20FSE 500 149 8 48| 110 84 68 10 1 0 0 0 0 0 0 0 0 0 13 9
0K 100.0 |1 29.8 1.6 96| 220| 168| 136 2.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.6 1.8 1,582 1,500
W0FELE 109 29 4 19 21 11 15 1 0 0 0 0 0 0 0 0 0 0 6 3
100.0 | 26.6 37]0 174" 193 104l 138 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.5 2.8 1,405 750
i 53 25 0 5 10 6 4 0 0 0 0 0 0 0 0 0 0 0 1 2
100.0 | 47.2 0.0 94| 189| 113 7.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 3.8 995 375
P 63 14 1 7 19 13 5 0 0 0 0 0 0 0 0 0 0 0 3 1
1000 | 22.2 160 111|302 206 7.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.8 1.6 1,466 1,500
. 202 101 9 27 54 37 50 2 0 0 0 0 0 0 0 0 0 0 7 5
100.0 | 34.6 3.1 92| 185| 127 171 0.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.4 1.7 1,459 1,500
= 110 31 3 9 21 23 18 3 0 0 0 0 0 0 0 0 0 0 1 1
100.0 | 28.2 2.7 82| 19.1 209 164 2.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.9 1,734 1,500
- 192 54 5 30 48 29 15 2 2 0 0 0 0 0 0 0 0 0 4 3
i) " 1000 | 28.1 26| 156| 250 15.1 7.8 1.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.1 1.6 1,396 1,500
BEM2 e 176 61 3 17 32 25 28 2 0 0 0 0 0 0 0 0 0 0 7 1
100.0 | 34.7 1.7 9.7 182 | 142| 159 1.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0 0.6 1,479 1,500
i 57 15 1 6 18 10 5 0 0 0 0 0 0 0 0 0 0 0 1 1
100.0 | 26.3 18]0 105[ 316 175 8.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 1.8 1.395 1,500
mE 25 10 1 0 3 7 2 0 0 0 0 0 0 0 0 0 0 0 1 1
100.0 | 40.0 4.0 0.0 120/ 280 8.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0 4.0 1,315 1,500
iy 120 44 4 13 20 17 11 3 0 0 0 0 0 0 0 0 0 0 6 2
100.0 |°36.7 33| 108| 167 142 9.2 2.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.0 1.7 1,304 750
PRl 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(RAA) 100.0 0.0 0.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2,500 2,500
f 271 87 7 26 56 40 37 3 0 0 0 0 0 0 0 0 0 0 10 5
25005 AR 1000 32.1 2.6 96| 207| 148| 137 1.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 37 1.8 1.453 1,500
14D (2,500 E a9 122 8 36 74 41 45 6 1 0 0 0 0 0 0 0 0 0 11 5
#URAZE (5,000 FKiH 100.0 f*35.0 23| 103 ] 2120 11.7| 129 1.7 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.2 1.4 1,408 1,500
5.0005FBLE aaa 137 12 49 90 83 56 3 1 0 0 0 0 0 0 0 0 0 9 4
100.0 §* 30.9 27]0 110" 203 |" 187|0 12.6 0.7 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 0.9 1.470 1,500
H-20: <XWH> FERFEFER
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
| 3 |23 5% 5|00 |58 on ko |on |25 B2 |88 (8b (88 (88| 8 | 8 | ®
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* o 09 |00 00 |00 |00 |0 |uo |[ow |uwuo |ou |[oo oo |oo |oo o s m| F &
@ ® |B°BYEY|EY AT 5V |35 |85 |85 BF(RF (RS (RS (RS (R | | | ¢ | &
— FEES x x *x x s
(%) e ol BB o5 % |2 |2 2 2 |2 |2 |2 & | H4 o -
b i i b i i b i i *t M =]
(mEfE | [0] [250] | [750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 68 6 50| 175| 231 317] 103 28 22 6 5 0 0 0 0 0 0 73 12
100.0 6.2 0.5 46| 160 21.1] 289 9.4 2.6 2.0 0.5 0.5 0.0 0.0 0.0 0.0 0.0 0.0 6.7 1.1 3409 2,500
Jry— 17 16 1 11 16 25 26 5 1 1 0 0 0 0 0 0 0 0 13 2
100.0 |1 13.7 0.9 94| 137| 21.4]| 222 4.3 0.9 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 11.1 1.7 2,453 2,500
Fgy  |[VORBLE 618 42 3 28| 106| 130| 182 50 17 12 5 1 0 0 0 0 0 0 36 6
60E K i 100.0 6.8 0.5 450 172" 210 294 8.1 2.8 1.9 0.8 0.2 0.0 0.0 0.0 0.0 0.0 0.0 5.8 1.0 3.325| 2,500
S0 LLE 355 9 2 10 52 74| 109 47 10 9 1 4 0 0 0 0 0 0 24 4
100.0 2.5 0.6 28| 146 208| 307[ 132 2.8 2.5 0.3 1.1 0.0 0.0 0.0 0.0 0.0 0.0 6.8 1.1 3.878|  4.000
2065 477 47 2 31 80| 101 116 30 9 7 4 1 0 0 0 0 0 0 43 6
100.0 9.9 0.4 6.5/ 16.8| 21.2| 243 6.3 1.9 1.5 0.8 0.2 0.0 0.0 0.0 0.0 0.0 0.0 9.0 1.3 2,982 2,500
sy [20FUE 500 17 4 15 81 100 166 59 16 11 2 3 0 0 0 0 0 0 21 5
405K 100.0 3.4 0.8 301 162" 200] 1332] 11.8 3.2 2.2 04 0.6 0.0 0.0 0.0 0.0 0.0 0.0 4.2 1.0 3,706| 4,000
W0ELE 109 3 0 3 12 28 33 14 3 3 0 1 0 0 0 0 0 0 8 1
100.0 2.8 0.0 28| 1101 257|303 1238 2.8 2.8 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 7.3 0.9 3.860| 4,000
- 53 7 1 4 8 10 9 1 0 0 0 0 0 0 0 0 0 0 10 3
100.0 1 13.2 1.9 750 151 | 189" 17.0 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00" 189 5.7 2,063| 2,000
=it 63 1 1 3 19 15 13 3 0 0 0 0 0 0 0 0 0 0 7 1
100.0 1.6 1.6 48| 302 238 206 4.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 11.1 1.6 2532| 2,500
[ 292 10 0 11 36 57| 112 39 8 9 2 3 0 0 0 0 0 0 4 1
100.0 3.4 0.0 38| 123 195| 1384 134 2.7 3.1 0.7 1.0 0.0 0.0 0.0 0.0 0.0 0.0 1.4 0.3 3986 4,000
- 110 7 1 2 14 30 il 7 1 3 1 0 0 0 0 0 0 0 2 1
100.0 6.4 0.9 1.8 12.7 | 27.3|137.3 6.4 0.9 2.7 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.9 3.381 2,500
- i 192 11 2 13 40 39 52 13 9 1 0 0 0 0 0 0 0 0 12 0
iR 100.0 5.7 1.0 6.8 208| 203| 271 6.8 4.7 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.3 0.0 3039 2,500
HEM= e 176 14 0 6 20 35 58 22 2 5 1 1 0 0 0 0 0 0 9 3
100.0 8.0 0.0 34 114 199] '330[ 125 1.1 2.8 0.6 0.6 0.0 0.0 0.0 0.0 0.0 0.0 5.1 1.7 3630 4,000
E 57 6 0 3 16 16 8 4 0 0 0 0 0 0 0 0 0 0 4 0
1000 105 0.0 53| 281|281 140 7.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.0 0.0 2.325| 2,500
mE 25 0 0 0 3 6 5 3 0 2 0 0 0 0 0 0 0 0 6 0
100.0 0.0 0.0 0.0 120" 240" 200/ 120 0.0 8.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 240 0.0 4.250| 4,000
U 120 11 1 6 18 21 17 11 8 2 2 1 0 0 0 0 0 0 19 3
100.0 9.2 0.8 500 150 | 17.5| 142 9.2 6.7 1.7 1.7 0.8 0.0 0.0 0.0 0.0 0.0 00| 158 2.5 3.645| 2,500
L 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
(RMIA) 100.0 0.0 0.0 0.0 0.0 0.0 [100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4,000] 4,000
f 271 14 1 10 47 62 70 28 8 4 1 2 0 0 0 0 0 0 22 2
25005 A 100.0 5.2 0.4 370 17.3| 229 258| 103 3.0 1.5 0.4 0.7 0.0 0.0 0.0 0.0 0.0 0.0 8.1 0.7 3439 2,500
14RO (2,500 LE 349 29 1 19 59 63 90 33 12 10 3 1 0 0 0 0 0 0 25 4
#RURAZE |5,0005 FIKiH 100.0 8.3 0.3 54| 169 | 18.1] 258 9.5 3.4 29 0.9 0.3 0.0 0.0 0.0 0.0 0.0 0.0 7.2 1.1 3,443 2,500
5.0005FLLE 444 23 4 17 63| 101 148 40 8 7 2 2 0 0 0 0 0 0 25 4
100.0 5.2 0.9 380 142| 227|333 9.0 1.8 1.6 0.5 0.5 0.0 0.0 0.0 0.0 0.0 0.0 5.6 0.9 3.401 2,500
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[mEfE| [0 | [250] | ([750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 15 11 181 713 ] 141 19 0 0 0 0 0 0 0 0 0 0 0 3 13
100.0 1.4 100 165] 6511 129 1.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.3 1.2 1515 1,500
PRy 17 2 0 19 81 10 5 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 1.7 00 162 69.2 8.5 4.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,545 1,500
sy [(ORBLE 618 9 6 88| 409 85 8 0 0 0 0 0 0 0 0 0 0 0 3 10
T |eomskiE 100.0 1.5 10|10 142 | 662 138 1.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 1.6 1,530 1,500
0BELE 355 4 5 74| 218 45 6 0 0 0 0 0 0 0 0 0 0 0 0 3
100.0 1.1 140 208 | 614 127 1.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.8 1,478 1,500
20E R 477 7 3 77| 313 60 10 0 0 0 0 0 0 0 0 0 0 0 2 5
100.0 1.5 06 161 656| 126 2.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.4 1.0 1,528 1,500
sy [20FSE 500 7 5 78| 330 65 8 0 0 0 0 0 0 0 0 0 0 0 1 6
404 Kith 100.0 1.4 10|10 156 | 66.0 130 1.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 1.2 1,520 1,500
W0FELE 109 1 3 25 62 16 1 0 0 0 0 0 0 0 0 0 0 0 0 1
100.0 0.9 28| 229| 569 | 147 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 1,449 1,500
i 53 1 1 6 27 14 1 0 0 0 0 0 0 0 0 0 0 0 0 3
100.0 1.9 1900 11.3| 509 264 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.7 1,685 1,500
i 63 0 1 17 30 13 2 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 0.0 16| 27.0| 476 206 3.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,563 1,500
. 292 2 2 35| 199 46 4 0 0 0 0 0 0 0 0 0 0 0 0 4
100.0 0.7 07| 120/ 682| 158 1.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.4 1,584 1,500
= 110 1 0 13 64 25 5 0 0 0 0 0 0 0 0 0 0 0 1 1
100.0 0.9 00 118 882| 227 4.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.9 1,743 1,500
i 192 5 2 27| 134 18 3 0 0 0 0 0 0 0 0 0 0 0 0 3
i) i 100.0 2.6 10|10 141 | 6938 9.4 1.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.6 1,475 1,500
HEMS . 176 3 4 31 115 18 4 0 0 0 0 0 0 0 0 0 0 0 0 1
100.0 1.7 23| 176 | 653 | 102 2.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 1,473 1,500
o 57 0 0 19 38 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 0.0 0.0 333 66.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,250 1,500
mE 25 0 0 8 15 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1
100.0 0.0 0.0 [ 320/ 600 4.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0 1,292 1,500
iy 120 3 1 24 84 6 0 0 0 0 0 0 0 0 0 0 0 0 2 0
100.0 2.5 0.8 [ 200|700 5.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.0 1,350 1,500
PRl 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(RAA) 100.0 0.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,500 1,500
f 271 4 3 56| 163 35 7 0 0 0 0 0 0 0 0 0 0 0 2 1
25005 AR 100.0 1.5 110 207 [ 601 [ 129 2.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.7 0.4 1,503 1,500
14D (2,500 E 349 6 5 62| 225 40 5 0 0 0 0 0 0 0 0 0 0 0 1 5
#URAZE (5,000 FKiH 100.0 1.7 1410 17.8| 645| 115 1.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.3 1.4 1473 1,500
5.0005FBLE 444 4 3 57| 305 63 6 0 0 0 0 0 0 0 0 0 0 0 0 6
100.0 0.9 07 128|687 | 14.2 1.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 14 1,558 1,500
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b i i b i i b i i *t =] =]
[nEfs] || [0] [250] | [750. 1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 17 13] 175] 706 | 140 26 0 0 0 0 0 0 0 0 0 0 0 10 9
100.0 1.6 1210 160 644 128 2.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.8 1,530 1,500
PRy 17 2 0 18 82 11 3 0 0 0 0 0 0 0 0 0 0 0 0 1
100.0 1.7 0.0 (" 154|701 9.4 2.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 1517 1,500
Fgy  [VORBLE 618 11 7 81| 408 83 15 0 0 0 0 0 0 0 0 0 0 0 8 5
60E K i 100.0 1.8 1000 131 | 66.0 |1 134 24 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.3 0.8 1,557 1,500
S0 LLE 355 4 6 75| 212 45 8 0 0 0 0 0 0 0 0 0 0 0 2 3
100.0 1.1 1710 210 [ 507 | 127 2.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 0.8 1.486 1,500
2065 477 8 3 70 315 61 12 0 0 0 0 0 0 0 0 0 0 0 6 2
100.0 1.7 0.6 147 66.0| 128 2.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.3 0.4 1,549 1,500
s [20FUE 500 8 7 77| 325 62 13 0 0 0 0 0 0 0 0 0 0 0 3 5
405K 100.0 1.6 140 154 | 650 124 2.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 1.0 1,533 1,500
W0ELE 109 1 3 26 59 17 1 0 0 0 0 0 0 0 0 0 0 0 1 1
100.0 0.9 28| 239| 541 | 156 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.9 1.451 1,500
- 53 1 1 7 30 11 1 0 0 0 0 0 0 0 0 0 0 0 1 1
100.0 1.9 190 132 | 566 | 208 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 1.9 1,608 1,500
=it 63 0 2 16 29 16 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 0.0 32| 254| 460 254 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,524 1,500
[ 292 2 2 31 194 47 10 0 0 0 0 0 0 0 0 0 0 0 3 3
100.0 0.7 07 106 66.4| 16.1 3.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0 1,651 1,500
. 110 1 0 13 58 28 5 0 0 0 0 0 0 0 0 0 0 0 2 3
100.0 0.9 0.0 118 527| 255 4.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 2.7 1779 1,500
- i 192 6 2 27| 134 14 6 0 0 0 0 0 0 0 0 0 0 0 1 2
Eil] 100.0 3.1 100 141 ] 6938 1.3 3.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 1.0 1.485 1,500
HEMS e 176 3 4 31 114 20 4 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 1.7 23| 176| 648 114 2.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,484 1,500
T 57 0 0 17 40 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 0.0 0.0 [ 29.8 "770.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,276 1,500
mE 25 1 0 8 16 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 4.0 0.0 1320/ 64.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,200 1,500
M 120 3 2 23 85 4 0 0 0 0 0 0 0 0 0 0 0 0 3 0
100.0 2.5 1.7 |0 19.2 708 3.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.5 0.0 1.327 1,500
L 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(RMIA) 100.0 0.0 0.0 0.0 |100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,500 1,500
f 271 4 5 51 160 38 7 0 0 0 0 0 0 0 0 0 0 0 5 1
25005 A 100.0 1.5 18] 188 | 5090 140 2.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.4 1519 1,500
14RO (2,500 E 349 7 5 57| 228 37 9 0 0 0 0 0 0 0 0 0 0 0 4 2
HURARE [5,0005 MK 100.0 2.0 140 163 | 653 106 2.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.1 0.6 1,500 1,500
5.0005FBLE 444 5 3 60| 298 63 9 0 0 0 0 0 0 0 0 0 0 0 1 5
100.0 1.1 07 135/ 67.1| 142 2.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 1.1 1,567 1,500




1-3: <FHH> 5k
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
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[mEfE| [0 | [250] | ([750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 14 3 76 516 341 104 18 2 0 0 0 0 0 0 0 0 0 9 13
100.0 1.3 0.3 69| 471 311 9.5 1.6 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.8 1.2 2,077 1,500
PRy 17 2 0 9 70 28 6 1 0 0 0 0 0 0 0 0 0 0 0 1
100.0 1.7 0.0 7.7 598 | 239 5.1 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 1,828 1,500
sy [(ORBLE 618 8 3 42| 282 194 60 12 2 0 0 0 0 0 0 0 0 0 7 8
T |eomskiE 100.0 1.3 0.5 6.8 456 | 314 9.7 1.9 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.1 1.3 2,111 1,500
0BELE 355 4 0 24| 163 | 115 38 5 0 0 0 0 0 0 0 0 0 0 2 4
100.0 1.1 0.0 68| 459 | 324| 107 1.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 1.1 2,101 1,500
20E R 477 7 1 36| 241 138 34 10 0 0 0 0 0 0 0 0 0 0 6 4
100.0 1.5 0.2 75| 505 | 289 7.1 2.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.3 0.8 1.996 1,500
sy [20FSE 500 6 2 29| 219 165 60 8 2 0 0 0 0 0 0 0 0 0 2 7
0K 100.0 1.2 0.4 58| 438| 33.0| 120 1.6 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.4 1.4 2,181 1,500
W0FELE 109 1 0 9 53 35 9 0 0 0 0 0 0 0 0 0 0 0 1 1
100.0 0.9 0.0 83| 486 321 8.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.9 1,960 1,500
i 53 1 0 5 19 20 3 1 0 0 0 0 0 0 0 0 0 0 1 3
100.0 1.9 0.0 94| 358| 377 5.7 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 5.7 2,051 1,500
i 63 0 0 7 22 24 9 1 0 0 0 0 0 0 0 0 0 0 0 0
100.0 0.0 00 111 349 381[ 143 1.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2,230 2,500
. 292 2 1 14| 127 98 38 6 1 0 0 0 0 0 0 0 0 0 1 4
100.0 0.7 0.3 4.8 | 4351336 13.0 2.1 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.3 1.4 2,246 1,500
= 110 1 0 6 40 39 16 4 0 0 0 0 0 0 0 0 0 0 1 3
100.0 0.9 0.0 55| 36.4| 355| 145 3.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 2.7 2,368 2,500
i 192 4 1 10 96 64 11 3 0 0 0 0 0 0 0 0 0 0 1 2
=] " 100.0 2.1 0.5 52| 500| 333 5.7 1.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 1.0 1,981 1,500
BEM2 . 176 3 0 16 96 39 16 3 1 0 0 0 0 0 0 0 0 0 2 0
100.0 1.7 0.0 9.1 545 | 222 9.1 1.7 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.1 0.0 1,983 1,500
o 57 0 0 6 40 9 2 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 0.0 00 105| 702| 158 35 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,667 1,500
mE 25 0 0 2 12 6 4 0 0 0 0 0 0 0 0 0 0 0 0 1
100.0 0.0 0.0 8.0 | 480 240 16.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0 2,104 1,500
iy 120 3 1 8 61 39 5 0 0 0 0 0 0 0 0 0 0 0 3 0
100.0 2.5 0.8 6.7 508 | 325 4.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.5 0.0 1,840 1,500
PRl 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(RAA) 100.0 0.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,500 1,500
f 271 4 1 16] 123 85 30 5 1 0 0 0 0 0 0 0 0 0 5 1
25005 AR 100.0 1.5 0.4 59 | 454 | 314 111 1.8 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.4 2,148 1,500
14D (2,500 E 349 6 2 24| 149 | 123 33 6 0 0 0 0 0 0 0 0 0 0 2 4
#URAZE (5,000 FKiH 100.0 1.7 0.6 6.9 | 427 | 352 9.5 1.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 1.1 2,096 1,500
5.0005FBLE 444 3 0 33| 234| 120 39 6 1 0 0 0 0 0 0 0 0 0 2 6
100.0 0.7 0.0 74527 | 270 8.8 1.4 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 14 2,014 1,500
1-4: <EHHE>  RBEHTH
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
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8 o8 |go oo |go |uo [Cu P2 |gp INa |lOoN 1010 00 | 00 |00 o bl
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b i i b i i b i i *t M =]
[n#fEl (0] | [250] | [750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250]| [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 27 8 79] 383 330] 189 25 3 2 1 1 0 0 0 0 0 0 34 14
100.0 2.5 0.7 72| 1349 301 172 2.3 0.3 0.2 0.1 0.1 0.0 0.0 0.0 0.0 0.0 0.0 3.1 1.3 2.339] 2500
Jry— 17 4 2 13 51 31 14 1 0 0 0 0 0 0 0 0 0 0 1 0
100.0 3.4 1700 111|436 | 265 12.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.0 1,953 1,500
Fgy  [VORBE 618 19 5 46| 224 | 199 88 17 2 1 1 0 0 0 0 0 0 0 11 5
60E K i 100.0 3.1 0.8 747362 | 322" 142 2.8 0.3 0.2 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.8 2.276] 2,500
S0 LLE 355 4 1 20| 108 94 87 7 1 1 0 1 0 0 0 0 0 0 22 9
100.0 1.1 0.3 56| 304 | 265| 245 2.0 0.3 0.3 0.0 0.3 0.0 0.0 0.0 0.0 0.0 0.0 6.2 2.5 2,593| 2,500
2065 477 13 5 46| 180 153 61 8 0 0 0 0 0 0 0 0 0 0 9 2
100.0 2.7 1.0 96| 37.7| 321 | 128 1.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 0.4 2,108 1,500
sy [20FME 500 11 3 27| 166 144 98 16 3 2 1 1 0 0 0 0 0 0 19 9
405K 100.0 2.2 0.6 54| 332 | 288| 196 3.2 0.6 0.4 0.2 0.2 0.0 0.0 0.0 0.0 0.0 0.0 3.8 1.8 2544 2,500
W0ELE 109 2 0 6 37 28 28 0 0 0 0 0 0 0 0 0 0 0 6 2
100.0 1.8 0.0 55| 339 | 257|257 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.5 1.8 2,396] 2,500
- 53 0 0 4 13 23 10 1 0 0 0 0 0 0 0 0 0 0 1 1
100.0 0.0 0.0 75| 245 | 43.4| 189 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 1.9 2,475 2,500
=it 63 2 0 4 16 20 12 3 0 0 0 0 0 0 0 0 0 0 6 0
100.0 3.2 0.0 63| 254 317" 19.0 4.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.5 0.0 2522 2,500
[ 292 8 2 18| 109 75 58 6 2 0 1 0 0 0 0 0 0 0 9 4
100.0 2.7 0.7 62| 37.3| 257 199 2.1 0.7 0.0 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.1 1.4 2.386] 2,500
- 110 3 0 8 29 35 28 1 0 1 0 0 0 0 0 0 0 0 3 2
100.0 2.7 0.0 7.3 26.4| 318 255 0.9 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.7 1.8 2,538 2,500
- i 192 6 2 14 70 61 24 4 1 0 0 1 0 0 0 0 0 0 6 3
[Eil] 100.0 3.1 1.0 73| 365 318 125 2.1 0.5 0.0 0.0 0.5 0.0 0.0 0.0 0.0 0.0 0.0 3.1 1.6 2,265 1,500
HEM= e 176 4 2 13 61 52 35 6 0 1 0 0 0 0 0 0 0 0 2 0
100.0 2.3 1.1 74 347 205| 199 3.4 0.0 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.1 0.0 2417 2,500
i 57 0 1 7 30 12 4 1 0 0 0 0 0 0 0 0 0 0 1 1
100.0 0.0 180 12.3 7626 |7 21.1 7.0 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 1.8 1,868 1,500
mE 25 0 0 0 10 9 2 2 0 0 0 0 0 0 0 0 0 0 1 1
100.0 0.0 0.0 0.0 [ 400 [ 360 8.0 8.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0 4.0 2522 2,500
T 120 4 1 10 44 38 15 1 0 0 0 0 0 0 0 0 0 0 5 2
100.0 3.3 0.8 83| 1367 31.7] 125 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.2 1.7 2,080 1,500
Bl 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(RMIA) 100.0 0.0 0.0 0.0 [7100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,500 1,500
- 271 8 0 9 70 91 52 8 1 0 1 0 0 0 0 0 0 0 25 6
25005 A 100.0 3.0 0.0 33| 258 1336 192 3.0 0.4 0.0 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.2 2.2 2,582 2,500
14RO (2,500 LE 349 9 6 32| 17| 100 69 8 1 1 0 0 0 0 0 0 0 0 5 1
#URAZE (5,000 FIKiH 100.0 2.6 1.7 9.2 '335| 287 1938 2.3 0.3 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.4 0.3 2,324 2,500
5.0005FLLE 444 9 2 38| 186 | 124 66 8 1 1 0 1 0 0 0 0 0 0 3 5
100.0 2.0 0.5 86| 419 279 149 1.8 0.2 0.2 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.7 1.1 2,221 1,500




J-5: <BiB > FIRN

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
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[mEfE] | [0] | [250] | [750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 2 1 13] 134] 314] 480 96 16 2 1 3 0 1 0 0 0 0 16 17
100.0 0.2 0.1 12| 122 286 438 8.8 1.5 0.2 0.1 0.3 0.0 0.1 0.0 0.0 0.0 0.0 1.5 1.6 3.540|  4.000
PRy 17 1 0 1 16 38 53 6 2 0 0 0 0 0 0 0 0 0 0 0
100.0 0.9 0.0 09| 137 325[ 453 5.1 1.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.306| 4,000
sy [(ORBE 618 1 0 4 69| 179| 275 63 10 1 0 1 0 1 0 0 0 0 5 9
T |eomskiE 100.0 0.2 0.0 06 11.2| 200| 445[ 102 1.6 0.2 0.0 0.2 0.0 0.2 0.0 0.0 0.0 0.0 0.8 1.5 3618 4,000
o 355 0 1 8 49 96 | 147 27 4 1 1 2 0 0 0 0 0 0 11 8
100.0 0.0 0.3 23| 138 270[ 414 7.6 1.1 0.3 0.3 0.6 0.0 0.0 0.0 0.0 0.0 0.0 3.1 2.3 3.479| 4,000
20E R 477 1 0 3 64| 148 203 46 5 0 0 0 0 0 0 0 0 0 5 2
100.0 0.2 0.0 06| 134 31.0[ 426 9.6 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.4 3429 4,000
sy [20FBE 500 1 1 7 59 | 133| 224 39 10 1 1 3 0 1 0 0 0 0 8 12
0K 100.0 0.2 0.2 14| 118 | 266 | 448 7.8 2.0 0.2 0.2 0.6 0.0 0.2 0.0 0.0 0.0 0.0 1.6 2.4 3.646| 4,000
W0FELE 109 0 0 3 11 32 46 10 1 1 0 0 0 0 0 0 0 0 3 2
100.0 0.0 0.0 28| 101 294 422 9.2 0.9 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.8 1.8 3512| 4,000
i 53 0 0 0 8 10 25 6 1 0 0 0 0 0 0 0 0 0 1 2
100.0 0.0 0.0 0.0 151 | 189| 472[ 113 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 3.8 3.665| 4,000
i 63 0 0 1 7 17 29 6 0 0 0 0 0 0 0 0 0 0 3 0
100.0 0.0 0.0 16| 111 | 270| 46.0 9.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.8 0.0 3.454| 4,000
. 292 0 0 3 27 86| 133 29 6 0 0 1 0 1 0 0 0 0 4 2
100.0 0.0 0.0 1.0 9.2 | 295|455 9.9 2.1 0.0 0.0 0.3 0.0 0.3 0.0 0.0 0.0 0.0 1.4 0.7 3.714| 4,000
= 110 0 0 1 11 27 49 13 3 1 0 0 0 0 0 0 0 0 2 3
100.0 0.0 0.0 09 100 245| 445[ 118 2.7 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 2.7 3.805| 4,000
g 192 2 0 2 32 60 7 16 3 0 0 1 0 0 0 0 0 0 2 3
=] i 100.0 1.0 0.0 1.0 167 | 313|370 8.3 1.6 0.0 0.0 0.5 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.6 3348 2,500
BEM2 . 176 0 1 3 22 44 84 17 1 1 0 1 0 0 0 0 0 0 1 1
100.0 0.0 0.6 1.7]0 125 | 250|477 9.7 0.6 0.6 0.0 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.6 0.6 3,586 4,000
o 57 0 0 0 9 18 25 2 0 0 0 0 0 0 0 0 0 0 0 3
100.0 0.0 0.0 00| 158 31.6[ 439 3.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.3 3.167|  3.250
mE 25 0 0 0 3 6 14 0 0 0 0 0 0 0 0 0 0 0 1 1
100.0 0.0 0.0 0.0 120 240 56.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0 4.0 3,283| 4,000
iy 120 0 0 3 15 44 46 6 2 0 1 0 0 0 0 0 0 0 2 1
100.0 0.0 0.0 25| 125367 383 5.0 1.7 0.0 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.8 3312 2,500
PRl 1 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
(RMA) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.250)  6.250
f 271 0 0 4 33 77| 106 29 5 0 0 0 0 1 0 0 0 0 14 2
25005 A 100.0 0.0 0.0 15| 122|284 1391 107 1.8 0.0 0.0 0.0 0.0 0.4 0.0 0.0 0.0 0.0 5.2 0.7 3594 4,000
14O (2,500 UL 349 0 1 4 46| 103| 160 23 4 1 0 1 0 0 0 0 0 0 1 5
#URAZE (5,000 FKH 100.0 0.0 0.3 1.1 13.2 | 295| 458 6.6 1.1 0.3 0.0 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.3 1.4 3,429 4,000
5.0005FBLE 444 2 0 4 52| 124| 203 41 6 1 1 2 0 0 0 0 0 0 1 7
100.0 0.5 0.0 090 117 279 457 9.2 1.4 0.2 0.2 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.2 1.6 3.599]  4.000
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[nEfs] || [0] [250] | [750. 1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 3 8 41] 462 397] 152 10 0 0 0 0 0 0 0 0 0 0 8 15
100.0 0.3 0.7 37| 422| 362| 139 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.7 14 2,226] 2500
Jry— 17 0 0 1 64 45 6 0 0 0 0 0 0 0 0 0 0 0 0 1
100.0 0.0 0.0 0.9 | 547 | 385 5.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 2,011 1,500
Fgy  |[1ORBLE 618 2 1 16| 258| 229 93 9 0 0 0 0 0 0 0 0 0 0 3 7
60E K i 100.0 0.3 0.2 26| 417 173710 150 1.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 1.1 2.303| 2,500
S0 LLE 355 1 7 24| 139 | 121 51 1 0 0 0 0 0 0 0 0 0 0 5 6
100.0 0.3 2.0 6.8 39.2 | 341 144 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.4 1.7 2154 2,500
206 R 477 0 2 15] 211 179 59 4 0 0 0 0 0 0 0 0 0 0 2 5
100.0 0.0 0.4 31| 442 375( 124 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.4 1.0 2,206 2,500
s [20FUE 500 3 3 22| 210| 170 76 6 0 0 0 0 0 0 0 0 0 0 4 6
405K 100.0 0.6 0.6 44| 4201340 152 1.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.8 1.2 2242 2,500
W0ELE 109 0 3 4 40 43 15 0 0 0 0 0 0 0 0 0 0 0 2 2
100.0 0.0 2.8 37| 1367 394 138 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 1.8 2,202| 2,500
- 53 0 0 2 19 17 12 2 0 0 0 0 0 0 0 0 0 0 0 1
100.0 0.0 0.0 38| 1358321 226 3.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 2,558| 2,500
=it 63 0 0 4 33 20 6 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 0.0 0.0 63| 524 317 9.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2,008 1,500
[ 292 1 1 10| 108 125 38 4 0 0 0 0 0 0 0 0 0 0 3 2
100.0 0.3 0.3 34| 1370 428 130 1.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.7 2297 2,500
- 110 0 1 2 46 35 21 1 0 0 0 0 0 0 0 0 0 0 2 2
100.0 0.0 0.9 1.8 41.8 | 13181 19.1 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 1.8 2,344 2,500
- i 192 0 2 10 96 54 23 2 0 0 0 0 0 0 0 0 0 0 1 4
Eil] 100.0 0.0 1.0 52| 500 281 120 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 2.1 2,094 1,500
HEMS e 176 1 3 4 54 71 35 1 0 0 0 0 0 0 0 0 0 0 0 1
100.0 0.6 1.7 23| 307 438 199 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 2420 2,500
T 57 0 0 2 37 13 4 0 0 0 0 0 0 0 0 0 0 0 0 1
100.0 0.0 0.0 357649 | 228 7.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 1,884 1,500
mE 25 0 1 1 9 9 3 0 0 0 0 0 0 0 0 0 0 0 0 2
100.0 0.0 4.0 4.0 | 136.0 [ 1360 120 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.0 2130 2,500
T 120 1 0 6 58 44 9 0 0 0 0 0 0 0 0 0 0 0 2 0
100.0 0.8 0.0 50| 483 | 36.7 7.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.0 2,013 1,500
FEEL 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
(RMIA) 100.0 0.0 0.0 0.0 0.0 0.0 [100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4,000/ 4,000
- 271 0 4 20| 102 96 35 4 0 0 0 0 0 0 0 0 0 0 5 5
25005 A 100.0 0.0 1.5 74 376 354 129 1.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 1.8 2199 2,500
14RO (2,500F5MALE 349 3 4 6| 149 136 43 4 0 0 0 0 0 0 0 0 0 0 2 2
HRURAZE |5,0005 FIKiH 100.0 0.9 1.1 1.7 427 | 390 123 1.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 0.6 2,220 2,500
5.0005FLLE 444 0 0 14| 195 156 70 2 0 0 0 0 0 0 0 0 0 0 1 6
100.0 0.0 0.0 32 439 | '351| 158 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 14 2.255| 2,500
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[mEfE] | [0] | [250] | [750] | [1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 4 0 3 23] 405] 647 3 0 0 0 0 0 0 0 0 0 0 5 6
100.0 04 0.0 0.3 21| 370] 590 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 0.5 3.370| _ 4.000
PRy 17 0 0 0 3 54 57 0 0 0 0 0 0 0 0 0 0 0 1 2
100.0 0.0 0.0 0.0 2.6 | 462 | 487 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 1.7 3.224| 3,250
sy [(ORBE 618 2 0 0 11 230| 370 1 0 0 0 0 0 0 0 0 0 0 3 1
T |eomskiE 100.0 0.3 0.0 0.0 1.8 37.2| 599 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 0.2 3,384 4,000
o 355 2 0 3 9| 17| 218 2 0 0 0 0 0 0 0 0 0 0 1 3
100.0 0.6 0.0 0.8 25| 33.0| 614 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.3 0.8 3,398] 4,000
20E R 477 2 0 0 10| 193] 265 2 0 0 0 0 0 0 0 0 0 0 4 1
100.0 0.4 0.0 0.0 2.1 | 405| 556 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.8 0.2 3.326| 4,000
sy [20FBE 500 2 0 3 11 171 308 0 0 0 0 0 0 0 0 0 0 0 1 4
404 Kith 100.0 0.4 0.0 0.6 22| 342 616 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 0.8 3,390 4,000
W0FELE 109 0 0 0 2 37 68 1 0 0 0 0 0 0 0 0 0 0 0 1
100.0 0.0 0.0 0.0 1.8 339 624 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 3.461 4,000
i 53 1 0 0 1 22 27 0 0 0 0 0 0 0 0 0 0 0 0 2
100.0 1.9 0.0 0.0 1.9 1 415|509 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.8 3,225 4,000
i 63 1 0 2 4 20 34 0 0 0 0 0 0 0 0 0 0 0 1 1
100.0 1.6 0.0 3.2 6.3 | 31.7| 540 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.6 1.6 3172 4,000
. 292 0 0 1 1 75| 213 2 0 0 0 0 0 0 0 0 0 0 0 0
100.0 0.0 0.0 0.3 0.3 | 257 | 72,9 0.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.610[ 4,000
= 110 0 0 0 0 8| 101 0 0 0 0 0 0 0 0 0 0 0 1 0
100.0 0.0 0.0 0.0 0.0 73| 918 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.0 3.890[ 4,000
g 192 2 0 0 5 89 94 1 0 0 0 0 0 0 0 0 0 0 1 0
i) " 100.0 1.0 0.0 0.0 2.6 | 46.4 | 49.0 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 0.0 3,205 2,500
HEMR . 176 0 0 0 7 97 68 0 0 0 0 0 0 0 0 0 0 0 2 2
100.0 0.0 0.0 0.0 4.0 | 85.1 | 1386 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.1 1.1 3052 2,500
o 57 0 0 0 4 23 30 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 0.0 0.0 0.0 7.0 | 404 | 526 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.219| 4,000
mE 25 0 0 0 0 7 18 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 0.0 0.0 0.0 0.0 | 280|720 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,580| 4,000
iy 120 0 0 0 1 57 61 0 0 0 0 0 0 0 0 0 0 0 0 1
100.0 0.0 0.0 0.0 0.8 | 475|508 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.8 3.261 4,000
PRl 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(RMA) 100.0 0.0 0.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2,500 2,500
f 271 2 0 1 6| 111 147 1 0 0 0 0 0 0 0 0 0 0 2 1
25005 A 100.0 0.7 0.0 0.4 22| 410 542 04 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.7 0.4 3.289| 4,000
14O (2,500 UL 349 1 0 0 7] 134| 205 0 0 0 0 0 0 0 0 0 0 0 1 1
HURAKE [5,0005 MK 100.0 0.3 0.0 0.0 2.0 | 38.4 | 587 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.3 0.3 3359 4,000
5.0005FBLE 444 1 0 2 9| 149 277 2 0 0 0 0 0 0 0 0 0 0 2 2
100.0 0.2 0.0 0.5 2.0 7336 | 62.4 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 0.5 3.427] 4,000
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(%) flEo|m o ®m |®m |m |2 |2 |2 2 %2 |2 £ |2 |8 | % o -
b i i b i i b i i *t =] =]
[nEfs] || [0] [250] | [750. 1500] | [2500] | [4000] | [6250] | [8750] | [11250] | [13750] | [16250] | [18750] | [22500] | [27500] | [35000] | [45000] | [50000]
otk 1096 0 0 0 1 2 69] 794 158 8 0 0 0 0 0 0 0 0 57 7
100.0 0.0 0.0 0.0 0.1 0.2 63| 724 144 0.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.2 0.6 6.509 6.250]
PRy 17 0 0 0 0 0 8 93 14 0 0 0 0 0 0 0 0 0 2 0
100.0 0.0 0.0 0.0 0.0 0.0 6.8 795 | 12.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.0 6.398| 6,250
Fgy  [VORBE 618 0 0 0 0 0 37| 474 7 4 0 0 0 0 0 0 0 0 30 2
60E K i 100.0 0.0 0.0 0.0 0.0 0.0 6.0 767 | 115 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.9 0.3 6.445 6.250
S0 LLE 355 0 0 0 1 2 24| 222 73 4 0 0 0 0 0 0 0 0 24 5
100.0 0.0 0.0 0.0 0.3 0.6 6.8 | 62.5| 206 1.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.8 1.4 6.668|  6.250
2065 477 0 0 0 1 0 35| 375 46 3 0 0 0 0 0 0 0 0 15 2
100.0 0.0 0.0 0.0 0.2 0.0 7.3 | 786 9.6 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.1 0.4 6,351 6.250
sy [20FUE 500 0 0 0 0 1 28| 348 84 5 0 0 0 0 0 0 0 0 29 5
405K 100.0 0.0 0.0 0.0 0.0 0.2 56| 696 168 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.8 1.0 6.611 6.250
W0ELE 109 0 0 0 0 1 5 66 26 0 0 0 0 0 0 0 0 0 1 0
100.0 0.0 0.0 0.0 0.0 0.9 4.6 | 606 | 239 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 101 0.0 6.760|  6.250
- 53 0 0 0 0 0 2 46 2 1 0 0 0 0 0 0 0 0 1 1
100.0 0.0 0.0 0.0 0.0 0.0 38| 868 3.8 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 1.9 6.358| 6,250
=it 63 0 0 0 1 0 9 46 3 0 0